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Important Instructions :
1.

The Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on
side-1 and side-2 carefully with blue/black ball point
penonly.

The test is of 3 hours duration and Test Booklet contains
180 questions. Each question carries 4 marks. For each
correct response, the candidate will get 4 marks. For
each incorrect response, one mark will be deducted
from the total scores. The maximum marks are 720.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/ marking responses.

Rough work is to be done on the space provided for
this purpose in the Test Booklet only.

On completion of the test, the candidate must hand
over the Answer Sheet to the invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is A. Make sure that the
CODE printed on Side-2 of the Answer Sheet is the
same as that on this Test Booklet. In case of discrepancy,
the candidate should immediately report the matter to
the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

The candidates should ensure that the Answer Sheet is
notfolded. Donotmake any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Test Booklet/ Answer
Sheet.

Use of white fluid for correction is NOT permissible on
the Answer Sheet.
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The electron distribution in d™ coordination
complexes depends on magnitude of crystal field
splitting, (A} and pairing energy (P). The condition
which favours formation of high spin complexes
is:

1) A,>P
® v
@ A,=P

Toluene in the vapour phase is in equilibrium with
a solution of benzene and toluene having mole
fraction of toluene 0.50. If vapour pressure of pure
benzene is 119 torr and that of toluene is 37.0 torr at
the same temperature, mole fraction of toluene in
vapour phase will be :

1) 0462
@ 0.237
3) 0506
@ 0325

The reaction : ArN,C1 __Cu/HCL | ArCI+N, is
known as ;

(1)  Sandmeyers reaction
(2)  Finkelstein reaction
@ Gattermann reaction

(4)  Balz Schiemann reaction

2

e

P 3
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d" Siodgan Sogipes® domSe Sobd 588 &
Deyad, (A )SB a5 DO(STS Y BEEPE DS
BIVEHPS F8 (P) J05rereD ogrsHs dotwod.
@65 )T Sogiper HGELrIE ©HZS HORS 2B ?

(1) A,>P
@ A,<P
@ A,=P
@ tgleg

DS 050 IS grifo Ko BodS Hobakn E°HY
ESm08° 0T eryarsy Swergas® ann. oF
SRS 55 DS BodS gribisso 119 torr Hodas»
&*HSB 37.0 torr mowd ko (FS5E° DS IrS
RS dod ?

(1) 0462
@ 0237
(3 0506
@ 0325

AN Cl__Cu/HCL | ArCl4+ N, & S50
DoErD ?

(1)  FoEbchHE 5t
(2 ISP S <5

() mobS St

? :
;8"'_34: e Lot 52
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4,

Which one of the following ions is not tetrahedral

in shape ?
() NHj
@ BE

@ [Cu(NH,), ]2+

@ [iCLPR-

The oxidation of phenol with chromic acid gives.
(1) asimple diketone
@ a conjugated diketone

(3  ortho benzoquinone

(4) analdehyde

The product (P) of the following reaction

@ CH,CONH,
COOCH;,

() Bry/NaOH

(i) A 18
o
(1
0
o
2 NH
o)
NH
® ¥
o)
4
o

3

BoBzrdS8® BErIrES esbo 590 odirsS 96 ?
(1) NHj

2) BF

@)  [Cu(NHy) 2+

@)  [NiCl)%~

E°005 5008’ Dard wd)Etno 20naNHA :
(1) =2¥ Soese 85

(2 a8 wonBE Bés'S

@) ©O BoSETS

@ o8 «@3r8
8ob S8R (Batrassssn (P) 08 ?

C[czﬂzcomi2
COOCH,

(i) Br,/NaOH

(ii) A
O
W, O:;
0
O
O
NH
@
O
O
@ @
O
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10.

Amongst the following compounds the one which
is most easily sulphonated is :

{) Benzene
(2)  Nitrobenzene

@ Toluene

{4)  Chlorobenzene

For the reaction, XA+ YB — ZC,

= d[A] _ - d[B] _ 15d[C]
dt dt dt
statement among the following is :

if » then the correct
(1) Thevalueof X=Y=7=3

@ Thevalue of X=Y =3

(3t ThevalueofX=2

(49} ThevalueofY=2

If the rate of the reaction :
O O
P V7
R—C/ +Nue———>R—C/ +Ze
SF MNu

is fastest, then 7 is ;

@ Cl

@ NH,
@) OGH,
@ OCoCH,

A compound formed by Mg, Aland O, is found to

have cubic close array of oxide ions in which Mg2+
th

occupying ry of tetrahedral voids and AR~ ions

1
occupying 5 the octahedral voids, The formula for

the compound is :
(1) MgAl,O,
2} Mgy AL O,

®

@ MgAlO

Mg Al, O,

4

10,
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808 JpFored® edod Dogorr K)@E)i)écisao
@95:5&5 :

(1 BotS

2) 3 BofT
(@) %05

@) &6*BodS

XA +YB — ZC 5555
— d[A] _ - d[B] _ 15d[C]
It it T wond Bobardst

20 o DSBes

(1) X=Y=Z=33eud &otwod
(2} X=Y=3Je0d éaotnod

(3) X=23eud @otnod

@  Y=22e0d gotnobd

O O

o

V4
+ Nu —>R_C< ©

+ Z
Z Nu

alely Bew 808 SriBosHond, Z Hd ?

&
R—C\

oH a

(). NH,

@ OCH;
@ OCOCH,

Mg, AL O 08° DA% 53‘33&%’;60 838 wcirSen S
1
IS Erdns® dod, woss® 3 Bleirgs

1
Bolgres Mg?t sEhohesmr, 5 ST IRES

Sojgrod APt edirSes eEhoshsHaon.
SpefSsim ardmee 26 7

(1) MgAlLO,
(2) Mg, Al; O,
@) MgAlLO,

4 MgAlO
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11.

12,

13.

14.

15.

16.

Of the following alcohols, the one that would react | 11,

fastest with conc. HCl and anhydrous ZnCl, is :
() Butan-1-ol
{2)  Butan-2-ol

©

(4)  2-methylpropanol

2-methylpropan-2-ol

Of the following, the largest value of entropy at

25°C and 1 atm is that of : 12.

(1) H
@ CH
@ GH,
4 CHy

Which of the following hydrides has the largestbond | 13,

angle ?
(1}  Hy5
(& H,Te

@ Ho

@ HSe

The [Co(H,O)¢)?* ion has three unpaired electrons.
The hybridization of Co in [Co(H,0)¢)?* is:

m  sp?

() dsp?

® we

@) d%p?

A hydrocarbon contains 85.7% C. If 42 mg of the
compound contains 3.01x 1020 molecules, the
molecular formula of the compound will be :

N GHg
3)  Cyp Hyy
4 GCyHy

Ce Hyp

For the tetrahedral complex [MnBr,]2-, the spin
enly magnetic moment value is :

[At. no. of Mn = 25]

o 17
@ 59
@) 48
4 24

14.

15.

16.

A
808 wopSSest, mi HCl 805w oy ZnCl,
o8 08 SPm S8 20BO OB ?
(1) egos-1-46
2) agos-2-48
B) 2-2pSRHS-2-585
@) 2-2RSErSSS

25°C, 1 atm ¢ 800706° T8 o8By doth
Dews GoLnod :

() H,

2 CHg

3 CH,

@) CHy

806 rBEes® 0gns nog Bndn a)e 8 ?
1)  HS

@ H,Te

@) HO

@ HpSe

[Co(H,0)]2+ safrSe® Sores aowb ade
Jo(Esey a0, [Co(H,0)]%" &* Co
Ho80EE0SD ¢

@ sp?
@ dsp?
@) spd?
@, d%p®

a8 EESSt C 85.7% 68, 42 mg o
BAHsns® 3.01x 100 eeohen aond, ©
SayEso v Fedyee Do ?

M GH
@ GeHp
() €z Hy
@ GH,

[MnBryJ>~ BigrarEsd Sogipds (ghom - errds
[gr5o%o (spin only) s oxpe BHODE ecbIos
(grau¥o Dend :

(Mn 58Zme Sogy 25)

1 17
2 59
@) 48

@ 24
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17.

18.

19.

20.

Which of the following statements is incorrect ?

(1)  Incoagulation of a negative sol, flocculating
power is in the order of AB™ > Ba2* >Na*

@ In the flocculation of a positive sol,
flocculating power is in the order,

Cl™ >S05™ > PO}~ > [Fe(CN)g 14~

(3) Lyophilic colloids have greater affinity for

solvents

(4)  Lyophilicsols are more stable than lyophobic
sols

Which of these artificial sweetener is unstable at
cooking temperature ?

@ Aspartame
(2) Alitame

(3) Sucralose

(4) Saccharin

Which of the following pairs shows highest bond
dissociation enthalpy among halogens and lowest
bond dissociation enthalpy among hydrogen
halides ?

(1) F,HF
2y ClL,HA
(3) Bry,HBr
4 IH

Match the polymer in Column-I to the monomer
from Column-ITand assign the correct code:

Column-I Column-II
{(Polymer) (Monomer)
(@) Nylon-6 (i) ethylene glycol,
terephthallic acid

(b) Dacron (ii)
(© Glyptal (iif)

urea, formaldehyde

ethylene glycol,

phthallic acid
(d) Novolac (iv)  phenol, formaldehyde

(v)  caprolactum

@ ® © @
@ » o @ @
@ G @ @ @
® @ @ ) W
@ © @ O @

17.

18.

19.

20.

806 DHBOE® HO BB sondd T ?

(1) o0erSd IS ousod® Goiss Jessy B
AP* >Ba?* > Na* e aotnod.

2 Hrdd S Gotses® YIS 3"5’33%55 (o0
ClI™ >S05” >PO3™ > [Fe(CN)]©~
aotood,

() OB=»0E Feronfed: TrEdes obg
AQPERELED S0E008.

(4) OTrPDE FrSo Boll DTPHOE TSl s
Qéé‘so = TelhvlolaN

585 85 st et 5ok adfis 35 §oor
aoldH 6 7

1) oRFES

) 8%
@) Esss
(@) >s8S

rEFaSedt ®&RE 205 DFeK dogrdy Kod HOKm
TS BEed® vk wots HE=K Jogrd) Kb
$2030 8ob a8 e ?

(1) F, HF
2y Cl, HCI
(3)  Bry, HBr
@ L,HI

doe-1 §°0 POXEY erlar-11 &5 Ipstobat
2EDGOSE VO wows So8ery) HhoPed.

dgr-1 edae-11
(FO5) (3055:8)
@ Bers-6 @ =608 s, JoeE
WO

b as (i)
© hS (i) =508 pooS, 08 wijo
@ &8 (v) oS, ool

V) sgrergd

B dse, FoOTFE

%o8do :

@ b © «
®» © @ (@) ()
@ ) @ () (i)
@ @ (@ @)
4 @) @) (@)

21

22
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21. Which of the following lanthanoids shows +4
oxidation state to acquire noble gas configuration ?
(At.nos.:La=57,Ce=58, Eu=63and Yb=70)

@ e
@ Yb
(3 La
(4) Eu

22,  Consider the following sequence of reactions :

< cona
. Anhvdrous i OH"™ l
AlCl,/CuCl 203 K

i

The substance ‘B’ is ;

3)
)

Benzaldehyde

Acetone

23.  Which of the following statements is incorrect ?

(1)  The bond angle follows the order

CH,>NH,>H,0>1 g

The bond order follows the order
03 >0, >0; >05~

(2)

3)

Which of the following complex ions is not
diamagnetic ?

4
@ [Cr (NH)gP*
3
@

Strength of "H’ bond follows the order
HF > H,O > NH, > HCl

+

{Gjoo=s 0,

=

Of C O =C=0, the structures,

= +
O - QO is most stable structure
24,
[Ti (en),(NH,),]4+
[Zn (NH3)6]2 %

[Sc (H,0)3(NHy),]*

7

21.

22,

23.

24.

A

808 orofZEest 58 ad) g Tany dagso
Protierdl +4 ot RB ErdRB.

(D8Srew Dogy : La=57, Ce=58, Eu=63 oo
Yb =70)

1) Ce

) Yb

(3 La

(4) Eu

£08 SEe SSodded Kool

g

CoOHA |
Anhydrous
AICly/ CuCl

I'Bf
OH~
293K l

i

Sogo B

(1) BodS

Q) esSE
B) Boerd3rl
@) &S

EoLarQ8® KB wond DBV 06 ?

(1) 208 Snsn Sob [Ednd S&k0b
CH, > NH, > H,0 > H,S

(2) 2of EHodn Sob (Ehdwd FdK0d

03 >0, >03 >03~

(3) 'H of sodno 8o [Eidoks 800

HF > H,0 > NH, > HCl
- +
@ 0-C=0, 0=C=0 Jdoywrods
- +
O -C= O o&hs8 6@:6 Qo0

808 Kogy woirSed® tdir echIpedo 08
o6 ?

(1)
(2)
(3)
(4)

[Ti (en),(NH),]**
[Cr (NH,) 3+

[Zn (NH,)?+

[Sc (H,O)3(NH,), >+
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26.

27.

28.

29,

Which of the following absorbs carbon dioxide and
releases oxygen?

1) CaO

® o
3 KOH
4 KO

Among halogens, the one which can oxidise water
to oxygenis:

(1)  chlorine

(2)  bromine
@ fluorine

(4) iodine

The total number of orbitals present for principle
quantum number, n=41is

1y 12
@ 15
@ 16
@ 30

Giventhat AZ, =133.4 (AgNO,);

A% =149.9(KCl); A% =144.9 Sem? mol ™ (KNO,)
the molar conductivity at infinite dilution for AgCl
is:

@
@
®
@

140 S em? mol 1
138 S cm? mol 1
134 S cm? mol 1

132 S cm? mol !

Consider the reaction between chlorine and nitric
oxide

Cly(g) +2NO(g) — 2NOCl(g)

On doubling the concentration of both reactants, the
rate of the reaction increases by a factor of 8.
However, if only the concentration of Cl, is doubled,
the rate increases by a factor of 2. The order of this
reaction with respect to NO is :

¥ o
2 1
@ 2
@ 3

8

25,

26.

27.

28,

29.

@

English+Telugu

800" 00 S BeBiE FR0HED wdyesS
DiHise BBpd.

(1) CaO
@ KO,
@) KOH
@ KO

TrdfaSodt 58D esgn)asn‘ @é}étﬁmo 3He oo ?

1 ges
2 &S
3 68
@) ©aS

95 Soud Sogy n=48° &) Tngo eBerd)
Rogg Do ?

1 12

15
@) 16
@ 30

A% =133.4 (AgNO;); A% =149.9 (KCI);
AL =144.9 Scm? mol H(KNO5) coosSiss. ko
DOB08* AgCl Iwerd FHESE Jos ?

(1) 140ScmZmol 1
(2) 138ScmZmot~!
(3) 134Scm2mol~?
(4 1325cm?mol !

85, BBE T Doty BIaDS S5 KEROBOE.
Cly(g) + 2NO(g) — 2NOC(g)

Both (Buirasisre s 8§D Ddeyond Boe
T 8 Beyg 1troEod. ClymEsss dm@adh BGoPH
BR¥ond $85 Bew 2 Ty DHES. NO Sdore
S ST [BSeoBdn

1y 0
@ 1
@ 2
@ 3
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30.

31.

32,

33.

34.

Strong reducing behaviour of H;PO,is due to:

(1)  low oxidation state of P

(3)  presence of two - OH groups and one P-H
bonds

presence of one - OH group and two P-H
bonds

{4)  low coordination number of P

Under isothermal and reversible conditions, the
term “free energy” in thermodynamics signifies :

@ non-expansion work done by the system
(2}  expansion work done by the system
(3)  non-expansion work done on the system

(4)  expansion work done on the system

The standard equilibrium constant, K at 298 K for
the reaction, N,(g)+3H,(g) = 2NH,(g) is
5.8%10%. The value of standard equilibrium

constant, if the concentration of gases is expressed
interms of mol/L, will be :

[Given: R=0.08314 L bar K~ mol ]
(1) 3.51x108

(2) 3.84x107

@

3.56 x 108
3.99x 102

Among the following acids, the strongest acid is :
(1) NCCH,COOH
(2) O,NCH,COOH

(@D F,CCcooH

4  ClLCCOOH

The letter ‘D’ in D - glucose signifies :

() configuration at all Chiral Carbons
(2}  dextrorotatory

(3)  thatitis a monosaccharide

configuration at the penultimate Chiral
Carbon

30.

31.

32.

33.

34.

A
H;PO, £ 20 Sabstes &grso Jotmbhiited :
(1 P88 edEtn 38

(2} =8 -OH (i 5H8an Bots P-H sogren
= Yalal:hle}

(3) Bod - OH (irshen H8aso =8 P-H =odo
=Jela:T0}

@) P Gy S50 Sosicd Sogy

Sy slghiiodad BORHOS’ eBs Fgod® g
48 HeSo BV Brdyod ?

1) 553 38 B ssn =R S0

@) X T8 ogsEm J1D

@) HBP pS gEiSin =0 $2

@ S S amgElaso B

298 K¢ Ny(g) +3H,(g) <= 2NH,(g) 55t (550es
KizRa Jorossin K, 5.8 x 10° otool. SPakode
e85 mol/Leod® drdodsiuona, Hake BERd
?gcvoéo QeaD

(R=0.08314 L bar K~ ! mol~! a5%356)

(1) 3.51x10°

(2} 3.84x107

3 356x108

4 3.99x10°

808 wirost noBosE eiekn :
(1) NCCH,COOH

2)  O,NCH,COOH

3)  F,CCOOH

@  ClLCCOOH

D-Kp&°E Snothi) D - efso (@eesgs :
(1) o)) oGS oG 56 Doy
2) SBBerRgs

3) O a8 eTFEE o

@  edrody egS YS H5E Do
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35.

36.

37.

38.

For dry cleaning of clothes instead of
tetrachloroethane which is carcinogen in nature,
which of the following solvents can be used ?

@) LiquidCO,
2 HyO,

®)
@

Liquid O

Petrol

Depressant used In the concentration of an ore

containing ZnS and PbS is :
(1) NayCOy
(2) NaCl
@ NaCN
@) NayS50,

The tendency to form monovalent compounds
among the Group 13 elements is correctly exhibited

B<Al<Ga<In<T]
Tl<In<Ga<Al<B
Tl=In<Ga<Al<B

4) B=Al=Ga=In=TI

Consider the following reaction for which the
change in enthalpy is positive.

2A(g) +B(g) ==C(g) + D(g)

Which of the following will not affect the
equilibrium ?

@

Change in concentration of reactants

(2) Change in pressure
(3) Changeintemperature
Presence of catalyst

10

35.

36.

37.

38.

English+Telugu

$o830 1§ §J0ASt Srdbary §86)5 so6Y
SerS et adSH oo 8odardst O Ed
eDToeA0sSwSYy ?

(1)
@
&)

&5 CO,
H,0,
55 Oy

@ S

ZnS, PbS &F) Snd pdard) Fobgboserds
S5@ErNoT JBYs° :

1)
2)
@)
)

Na,CO,
NaCl
NaCN

Na,S0,

8 13 Sreseed® 58 Sodmes Siyfroi D583
BB Joths® Jore (HKgRRs ?

() B<Al<Ga<In<Tl
2
®)

@)

Th<In<Ga<Al<B
TI=In<Ga<Al<B

B=Al=Ga=In=TIl

808 SgyS HDosod w8 Jogrd)Et Hrdy)
cﬁavéééﬁa).

2A(g) + B(g) =C(g) + D(g)

208T06° DO $HERBI (Herddo Skt ?

1) (Eoir e mEEs® Sy
@  HBSoE ariy
(3) oRPHSS Sy

@ a@)5E SHogsw
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11
39. Match Column-I with Column-II
Column-1I Column-11
(A) O+ HN-NH ‘Q‘ (P) Electrophilic
Substitution

mlldH* E><NH NHO

@r (CHy)s - C (CHs)
Conc Hy50, @

o=

(@) Nucleophilic
Substitution

{R) Nucleophilic

addition
A-P;B-Q;C-R
) A-Q;B-R;C-P
@ A-R;B-P;C-Q
(4) A-R;B-Q;C-P

40.  Which of the following will react faster through S 1
mechanism ?

@ H,C=CH~CH\I

o (e

3)
)

CH,=CHCl
CH,CH,Cl

41,  For the reaction CO(g)+ Cl,(g) = COCly(g),

K
£ l1to:
K, is equal to :

1
@ =

2) RT
3 JRT
@ (RTP

39,  erdar-l O wrdae-11 &° =355508.

= | ehae-11

NO,
(A)E}o+ 1+12N—1\ﬂ~1~%;>~1\102
NO,
OH

NH-NH

@) cogiens
DD

o Em——
ayse H*

(CHy) -
(B)
Conc H,50, GQ

Oy

A-P;B-Q;C-R

NO,

C‘ (CHs),
OH

(Q) AngrpoE
(DEEDe

(R) srBBrH0E
WoSOHS0

A-Q;B-R;C-P
A-R;B-P;C-Q
A-R;B-Q;C-P

40. (8ob BE* Sl So DS TR KB 20N

2B ?

o

o (e

)
@)

H,C=CH-CH,Cl

CH,=CHCl
CH,CH,C1

K

P .

41,
K¢

CO(g) + Cly(g) = COCl,(g) S&5&o
DEPRHD

@)
@)

JRT
(RT)?


web220
Oval

web220
Oval

web220
Oval


A 12
42. Which of the following pair of species is not
iso-structural ?

()  ICl;, Xek,

@ ClO; , CO%

@) IBry , XeF,

(4) BI‘Oé: P XeO3

43.  Which of the following amino acid is not optically
active ?
(1)  Proline
(2) Serine
3) Leucine

Glycine

4. The correct statement regarding ethane
conformation is :

(1) Rotation around carbon-carbon bond in
ethane molecule is not possible, because
ethane molecule contains a pi () bond
between the carbon and carbon and ethane
has very low melting point.

{2} Rotation around carbon-carbon bond in
ethane molecule is not possible, because
ethane molecule contains both sigma (o) bond
and pi ()} bond between the carbon and
carbon.

@ Rotation around carbon-carbon bond in

ethane molecule is possible because of
cylindrical symmetry of sigma (o) bond
between carbon-carbon atoms.

(4) Rotation around carbon-carbon bond in
ethane molecule is not possible, because
ethane molecule contains both sigma () bond
and pi () bond between the carbon and
carbon and ethane has very high boiling point.

45.  The zinc/silver oxide cell is used in electric watches.
The reaction is as following,

Zn2+ +2e~ - Zn E°= —0.760 V
AgO+H,0+2e~ - 2Ag+20H"; E°=0344V

If F i5 96,500 C mol ~ 1, AG® of the cell will be :
(1)  113.072 kJ mol 1
213.072 k] mol~!
(3) 313.082 k] mol 1
(4)  413.021 K] mol !

42,

43.

45.

BobardS® B QoEren 80 e w8 DO ?

1) ICl; , XeE,
@ Co; , oy
3 [Br, , XeF,
(4) BrO3 , XeO;

Bod 70 g0 Pnd 8D DS o 26 ?
M @S

() BS
@)  erhS
@ b8

SGS @EPS0 HB0D B8 wonS DS -

(1) =38 ewHe® =4S - =T ogo Dep
g5oes0 JPE50 S, Dol sES wedest
SR, sHS Dy D (7) woFo @otnod
SBA» BHRH (5DYSS 0 Trer SE9.

2) 235 wwHst SHI-SHS wofo by
(@00 FrEso 59, ool aRS weoHe®
)0, S Dk vy (0) Logo Fk
2 (7) 2ofo Gotron.

B) =68 wwHod® =GS-S oo ko
Fmo FEEh. dohsed sHS - =S
SoreoHo gy BT (o) wogFo Jpases
TGS sotwod.

@ =35 oy’ 5S-G wofo Sap
(@Ses0 ;g0 5o, JotHEeE B S
=S, SgSe By BT (o) BoFo Joda
2 (7) ©oo Sotron B SPSLH (DESS
sk crem DS,

(3§ Hexsroros® B0 /exd «B)f DesgE Fotro
U, T S5 (B0 DEfore Gotwod.

Zn?t +2e” — Zn; E°= —0.760 V
Ag,0+H,0+2e~ —2Ag+20H"; E°=0.344V
F Dend 96,500 C mol ~! sonss & 95x8 sheo AG®
Dend 2o ?

(1) 113.072k] mol !

(2) 213.072 K] mol !

(3)  313.082 k] mol~!

(4) 413.021 k] mol~!
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46,

47.

49.

50.

@

An athlete while running fell on the track. She used
her hands to sustain minimal injury. In the process,
her hands received the maximum blow on the joints.
Which combination of joints would be badly affected
in this accident ?
(1)
(@) Fibrous and synovial joints
@)

@)

Fibrous and cartilaginous joints

Cartilaginous and synovial joints
Cartilaginous and synaptic joints

The correct sequence of involvement of cell
organelles in secretion of proteins from the cellis :

@

@)

Nucleus —» Ribosomes — Endoplasmic
reticulum — Golgi apparatus — Secretory
vesicles — Plasma membrane

Nucleus — Ribosomes — Endoplasmic
reticulum — Lysosomes — Plasma membrane

(3} Nucleus — Endoplasmic reticulum -»
Ribosomes —» Golgi apparatus — Lysosomes

— Plasma membrane

@

Nucleus — Endoplasmic reticulum —
Ribosomes — Golgi apparatus — Secretory
vesicles —» Plasma membrane

Flippers of Penguins and Dolphins are the example
of :

(1) Homologous structure
Analogous structure
3)

)

Divergent evolution

Radiation

Signals for the onset of parturition originate from :
@
3
)

Foetus and placenta

Mother’s uterus

Mother’s pituitary

Mother’s hypothalamus

Which of the following is not true of organisms in
the kingdom Monera ?

@
@
3)

They originated at least 3.5 billion years ago.
They have prokaryotic cellular organization.

They may be autotrophic or heterotrophic in
nature.

They reproduce by mitosis.

13
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A

2.8 Berseod SBRDER wood HADH0D. eib B3
FHod mdre wrd Ho0d Ed)osEEdE
SBEPAR00. S ([Eost D I8 ) Sotheodst
whH¥ore By 8ND0L. & DBIros® D Sogde
Saytfto MR (Herards &P3asmgom ?

(1) dodcind S8 Sytoer Sosben

(2) Hoddnd S8 DI*DeHS Bogen

3  Syhery Hdcn BSPDDS SogHen

@) Serd $oocid vy Soghen

ea0 5008 (DPES (B8 & Kerorpes S [Evos’
P OLTAW | l

(1) Folso — PEVwen - wosdS SEgereto
— 1§ Q0290 — (PSE Fesoen — PSo
Bolgsso — BE*ESwen — @:oééé (g0
~> BRFDFHmen — pSEo

BolEsto — wodf (iEreso —» PERKme
— g JoEso — PRERBKwen — PAeso
Bol¥o — @oééé (BS&Scereerso — BEFRESwen
— 178 Jo9E0 — (DD Aleaven — apamEso

2

3)

Doy BB &P DO (roerren) 58
a8 Gl

ey
@
)
@

K50 (Fr8oss DoBarer B Ho& aLDFom
(1) (goreeo SobBdin atraingd

(2 S Nopdaho

@) 39 o) bt o

@) S0 WY uftssso

Doerd JoyEren
(BaSmeyg Doeen
BHP0 (DBB) Hbegesoo
4 l-tatoTel

TR Toeges dife Sowofod & [Bots DEU)
Q8 2,58 30 =% 7

1) & dden 8%0 3.5 HOAHS Sosore @ok
SIHADID

3 BolBEIrSE Swro Sodgrso SOA
LTHOD

©d draorr HKohodfisrw 88 HEDGseen
©ON SOEDTY
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51.

52.

53.

©

@

T T

—

—

Which of the following is not true for callus
culture ?

(1)  Somaclonal variation is generated

(2) Parenchyma tissue increases by continuous
mitotic divisions

Meiotic divisions are frequent

(4)  Iltcanbeused for micropropagation

Which of the following statements regarding
enzyme inhibition is correct ?

(1) Competitive inhibition is seen when a
substrate competes with an enzyme for
binding tc an inhibition protein.

Competitive inhibition is seen when the

substrate and the inhibitor compete.

(3)  Noncompetitive inhibition of an enzyme can
be overcome by adding large amount of
substrate.

Non competitive inhibitors often bind to the
enzyme irreversibly

Which of the following ossicles is adhered to

tympanic membrane of middle ear ?
(1) Incus

(2) Stapes

(3)  Utricle

Malleus

Trace the correct path of sperm from seminiferous
tubules :

(1)  Rete testis — epididymis — vasa efferentia —
vas deferens

(2)  Vasa efferentia — rete testis — vas deferens

— epididymis
(3) Epididymis — vasa efferentia — rete testis —
vas deferens
Rete testis — vasa efferentia — epididymis —
vas deferens

51.

52.

53,

54.

English+Telugu

520l (Callus) SR8 Sow0fodS Tsaged® .88
SEDRE T ?

(1) FIESS 3Dk (Somaclonal variation)
6818 Sohesn

(2) Abods SHDede TRTe B> Severorint
othes

(3) S8 EchHEsn Defaben et

@ &30 Jrg) ad@eH (Micropropagation)
DOEAODBDE

& (8ol DI TS BOFS J0BDH ISLESS
Noohodd VTN aCsTotavia W)

1) 28 255588 w050 Oi5% BHorgo JogHs®
26558 | PPATE® wofoserirds PdsKeo

(2) B LS w5 o oo HBa
efrgos® diwo

@) ¥ oS dng) N B VRS S
o5¥ BBreod’ e Bl Bodto Hod

@@ﬁ&'}:oéérﬁa

@ 8 I G e SESHm JoZ S8t
@éoLeS&éoego‘Saom (irreversibly)
Dopodtiaran

Bocsy B Gok) KL HeDB & Bod o} porred®
28 ©HED dotnod ?

)
2)

TAD (2082)

—

EpodTR) (Stapes)

3) o&% (Utricle)

—

)
4 ErvHEo (Malleus)

BHE e s8 PEoR08 HE Sno Hordod sego

- BOEBG HB0HE®.

(1) BE o — HREDS - HE TLEw —
HE &8

(2) BHE TP - BB SwHo - DE L -
IHZBS

@)  EFADT o HIE TEen — BB Hwyo —
HiE g

4) OB SoHo — HE L8 — HRAXT
HE ook
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55.

57

TYR


web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval


English+Telugu

55.

57.

58.

59,

|

Q

A large amount of about 180 L of fluid is filtered by
the human kidneys per day. Which one of the
following renal corpuscle features does not justify
this ?

O]

The glomerular capillaries have a large
surface area.

The glomerular capillaries are fenestrated and
hence leakier than other capillaries.

@

(3) The glomerular capillaries have a higher
blood pressure than the other capillaries of

the body.

The efferent arteriole is wider than the afferent
arteriole causing easier outflow of blood from
the glomerulus.

Special feature about Strobilanthus kunthiana
(neelakuranii) is its flowering once in :

@ 12 years

(2} 50-100years
(3) 6years

{4 25years

Afat molecule is formed from:

@

One glycerol molecule and one fatty acid
molecule.

(@  Threeglycerol molecules and three fatty acid

molecules.

One glycerol molecule and three fatty acid
molecules.

@)

Three glycerol molecules and one fatty acid
molecule.

The recessive genes located on X-chromosome in
humans are always :

(1)

expressed in females

@ expressed in males

lethal
sub-lethal

@)
(4)

Which of the following plants has association with
Frankia?

(1) Alfalfa
@ Alnus

(3) Sweetpea

(4) Lentils

15
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A

Ber8 LSS damighotren HErs 180 HoF SRy

modo Jpow. &) EBrwo (renal corpuscle)

ofroc® & 8ol DI TS 2.8B oD

(1) CEITO D SR b adode
ST SON Gotraw.

BEEITR Hid TdTdden Sogens®
aotron st Dofae edE° DO P
SeSodr aoLrow.

505D x88 g BHrhges® s?&*&)t):éa’mdfo,
tS_éné-s‘sU@s“ rﬁﬁa&@ EEGIH I a&&as 6_§.§J(‘faﬁ°@cl
O aodron,

oS Hi%) SLE whar HY) $RNEE
PO S Doy dod BE BEhe 1Hefo

08 B¥o BOEM™ wcbed I8 den
N0,

@

3)

)

@;&'9@”055 oBaimsS (Strobilanthus kunthiana)
(B85 ofnsn DiYostin. b I SodHreH
D208

1
2
€)
@)

2.8 By om0l O Lol HBRLS @
(1) a8 pOoed e, o BHR uiy waod

(2} Sootd AlTeS evraspen, Sortd EFHY el
E9L30a)e0

.8 AXTS e, Hmtd Sy ey swwdHen
St HRTS weiden, a8 SRR wip o0

12 SoBdyoeen

50 - 100 Jodsoren
6 Jodyoren

25 YoSoeen

(3)
@
SS9 X- (ErRsws® el WOSKH eiiogaden
gEptse

1) o sdstosatheon

2 JoHeds® sBssosabenan

(3) (@resosSo (lethal)

@) a5 @erosto (Sub-lethal)

(@ofas (Frankia) 8 Sdrarstn 3D g 26 ?
(L wevy-wor (Alfalfa)

(2) @R (Alnus)

@)
@

&5 & (Sweet pea)
BodsS) (Lentils)
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60.  Select the incorrect option with respect to features & (Bol ‘335'25& 3 2oHeStY @éggne_)és %Beged)
present in three animals. ($3y) Simgrardy HOoHED

Characters |Cockroach|Earthworm| Frog ofmros g°8od | a8SrBn | €5

(1) |Blood vascular |open closed closed St S |08 DOBS 0B
system = @
(2) |Body surface |dry moist moist a% e30dw0  |Drare sS4 S&re
(3) |Eyes compound |absent simple K6y Soowd |8 s
(@) )Development |direct indirect indirect
) [BoBn Dy 88 8%

A genetically engineered bacterium first used for
cleaning the oil spills, was a species of :

(1}  Escherichin
@D Pseudomonas
(3)  Bacillus

(4)  Rhizobium

In roots, absorption of water and minerals mostly
occurs in the :

(1)  Region of elongation
@ Region of maturation
(3)  Meristematic region

(4) Rootcap

The type of ribosomes is same in :

(1) Cytoplasm of eukaryotic cells, their
mitochondria and chloroplasts.

(2) Cytoplasm of eukaryotic cells, their
chloroplasts and microbodies.

@ Prokaryotes, mitochondria and chloroplasts.

(4) Eukaryotic cytoplasm, mitochondria and
endoplasmic reticulum.

Select the correct option :

(1)  Phenylketonuria is X linked disease and
results in accumulation of phenylpyruvic
acid.

(2} Down’s syndrome is due to triploidy and
results in mental retardation.

(3)  Turner’s syndrome is due to trisomy and
results in sterile female.

Klinefelter’s syndrome is due to extra
X chromosome and results in sterife male.

Brhd alwads wrdodros® el iy
FoSBEorr SrY) FHsor 3 H0 (oil spills)
Bor D85 Bivo Hghn Bahrrds VTR0,
ol 20 7

(1)  Dg8Date (Escherichia)

(2) RS ZwTS (Pseudomonas)

(3)  aPdg® (Bacillus)

(4) B&%abo (Rhizobium)

B0 D grriine® D Hocin plere SHod
(BB astoirhd ¢

(1) ERER griidn / [Prodsm

Q) D5 Toe S0HdS grrsm / [Deodism
()  Dgrey Swmere grrisn / (@eodHhn

@ 3 &

&S5 o8 889 pStRSwenotroy

(1) -DaSols £wrdld oS50, &0¢
DoesPerolBairen 80 O TeandHen

(2) DuSolsy LoD Eea|Bgsdw, &) o8&
Beoen Sobckw BiESrES

(3) oar), porolGair S8k o Send

@  OIBosE EeoltSgin, DoetsrolBoir uBckm
©0803 (SHgerosn

OGRS Jesrerrard rhfohdm.

(1) 2RSS mpatr ofe X Sirorf) 0 S0
PSS DBDE wiho BrNHEod Tre Sosschiso
alelnvi: Viatal

@ T8 2085 Bipond (Eob 3888) S0
B0, & Kol wgBredso SHos.

B) 50 volEtsm B S Sworbdbosd. Sods
& dden Dysaron,

@) 85390 205D wisD X B0 S0l
508 GBS Borf Hoh digen VGEeoD.
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69.

English+Telugu
65.

Which of the following values will depict correct
respiratory quotient when tripalmitin (a fatty acid)
is used as a respiratory substrate ?

@M 1

@ o7
3 09
@ 1.1

Which of the following cannot be measured by
spirometry ?

(1) Tidal volume

(2) Inspiratory reserve volume

@ Residual volume
(4)  Vital capacity
Select the sac fungus :
(1)  Agaricus
@ Neurospora
3) Mucor
(4 Albugo

Consider the following statements and choose the
correct option:

(@)
(b)

Six codons do not code for any amino-acid.

Codon is read in m-RNA in a contiguous
fashion.

{¢)  Three codons function as stop codons.

(d The initiator codon AUG codes for
methionine.

Option:

(1} (@), (b)and (d) are wrong
() (a),(b)and (c) are wrong
(3) (b).(c)and (d)are wrong

(a)is wrong

Aijr pollution can result in Emphysema, which is :

Q)

() Persistant inflammation and damage to the
cells lining the bronchi and bronchioles

(3)  Anallergic reaction causing muscle spasms
in the bronchial walls

Chronic damage to air sacs or alveoli leading
to abnormal reduction in respiratory surface
area

(4) Damage to any Lung tissue causing increase
in efasticity of the air sacs

17
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(Br0BS (Tripalmitin o S°KR B THB0D
{Bairgrdorr a3@rAonR SO8GHS aiBad rhogsn
(Respiratory Quotient-RQ ) do& ?
¥y 1
@ 07
3 09
@ 11
DS 8580508’ & 8o IS 28medD
oS8 Jeo 2% ?
(1) 8BS srery (B0 H65r@0)
@) TR0 rben S8%FEs0
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@ 88 >dgo

8% (sac) 689 %é‘)o@“ﬁg rogohdw
)
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)
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& Bod Tsaod® SO@E TR HBoMLD.
@ % oy O YPS oFoS® 5wl
B08B0SH
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3 oy 5 o 90 Tixow.,
(o Scd AUG HoI3rdTS0
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70.

72.

73.

74.

Which of the following ecologists has tried to put
price-tags on nature’s life support services ?

David Tilman
@ Robert Constanza
(3)  Paul Ehrlich
(4)  RobertMay

In Lactational amenorrhoea, ovulation does not
occur during the period of intense lactation because
of:

ey
@
@ '

@

Surge of Estrogen
Stimulation of GnRH
High level of Prolactin
High level of FSH & LH

Which of the following type of muscle fibres will be
the first one to undergo fatigue ?

(1)  Slow oxidative fibres

(2)  Fastoxidative - glycolytic fibres
@ Fast glycolytic fibres

(4)  Aerobicfibres

Given below are defined the various taxonomic aids
used in taxonomy which facilitate identification and
classification of organisms. Which one of the
following is wrong ?

@

Herbarium is created to house live specimens

of plant material.

(2}  Museums are established to keep preserved
specimens of animals and plants.

(3}  Botanical gardens and Zoological parks are

established to conserve and preserve live
plants and animals respectively.

4  Keys, floras, manuals, menographs and
catalogues are useful aids for identification

of plants and animals.

Atwhat phase of meiosis homologous chromosomes
are separated ?

(1) Prophasel

(2)  Prophasell
@ Anaphase [

{4y  Anaphasell

18
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£ 3P DSeD (Life support services) D sS8:
TR eptl (ecologists) ¢ HeOEKe (price-tay
CVelevrieinlativ Jisiovel el oiad

(1) RDE &SErS (David Tibman)

(2) oo 833poer (Robert Constanza)
@) & 265 (Paul Lhrlich)

@4 o=d 3 (Robert May)

SRS oHTFOUE SIS, wosiEEie w8l
éﬁ@)ﬂcﬁo (intense lactation) &X\GEo 28K
QOtDEST |

(1) =@fead aTonSy) (Surge)

(2)  GnRH [EB%hosatidhos

(B) @SS A Fows® dowwod

(4)  FSH & LH 8% rans® sowron

& 8o '5.)8"27:6& ¥ort dodhdHedt 58 (FHeoon
el grothdod ?

(1) 3o cgﬁQétﬁea Soidde

(2) P8 w8 \55n-HEBAE Sodsen

(3) &o¥ RETAE Bodden

@) SB°2E (o) SodsHes

LY Soro HPESm Sbahisros $85Snd
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25D 20R08. @othd® J& BEbsE 5 ?
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Babnlds ok FEHOHD.

aododhen, INHed FEIED aodeedS
Sorseahdveid (Museums) dRén DR,
£5B0G) InG e HBFw modHod
HoBBoseelE, SEmE STerlss 38,
warergld Bk dovyin 3.
S8 DVmed  (Keys) Srdogde
(manuals), ST (monographs) Bk
Boerdy  (catalogues) @®Kd [y,
20Ol HBolEdns® aSBrNSE
[FEchsren.
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|
|
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75.

76,

77.

78.

79.

Identify and select the wrong statement out of the
following :

1)

Roots of pines enter into a symbiotic
relationship with higher fungi,

()

®

“)

The coralloid roots in Cycas have nitrogen
fixing cyanobacteria.

The giant redwood tree Sequoia, one of the
tallest trees is an angiosperm.

In conifers the needle like leaves are well
adapted to extremes of temperature, moisture
conservation and enslaught of wind.

Tetradynamous stamens are characteristicof :

(1)  Solanaceae
(2) Fabaceae

(3 Liliaceae
@ Brassicaceae

Reserved material in prokaryotic cells is stored as :
(2)
)
)

Inclusion Bodies
Mesosome
Polysome

Basal body

"MOET’ technique is used for super-ovulation in :

(1) Fish
@ Cattles

(3)  Chickens

(4)  Elephants

Which of the following statements is correct with
respect to cell cycle ?

A cell in G1 phase has double the amount of
DNA than a cell in G2 phase

Each chromosome has two chromatids in G1
phase

Nerve cells in adult human are in GO state

DNA content of cell remains constant during
entire cell cycle
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SHEHY BIoreds EYIG

(1) ol
2) P

(3) OOID
@) (2°2ED

Bogss HroE Ede Seredt Doy Sorgo & SmHod®
Dex, SOLOB

(1) ©osdy¥ doere
() SoDHw

(@) OS>

(4) oors doyeo

‘MOET écg&gl od - woﬁsér)éa’méé: & mohHed®
DIRPAIE: :

(1) Jden

(2) Hbsyeo (Cattles)
@) &y

@) e

Endisedd Sow0b0IX $0@ad Srgra)y
oS oHhEm.

(1) e Smo Gl 888° G2 586°0 Lwod® 0T
B0 $05re0s® DNA S SR sotood

(2 (©8& B350 Botd THrBES Gl s38t
EOA sotwod

B) ~elsoren EmdS Bredds® G0 &88° dotrew
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80.

(@)
(b)
(©)
(d)

81,

82,

B3,

©

20

Match Column-I with Column-II and select the
correct option using codes given below.

Column -1 Column-1II

Cytokinin (i)  stimulates closure of stomata

Ethylene (i) increases stem length

Gibberellin  (iii) promotes lateral shoot growth
Abscisic acid (iv) found in large amountin tissues
undergoing senescence

Codes:

@ ® © (@
@O G G w6
@ v O @ G
G @ & @ i)

@@ @

Which of the following is nota citiary movement ?
(1)  Removal of dust particles in trachea.

(2)  Passage of ova through female reproductive
tract.

Movement of macrophages and leucocytes.

(4)  Food gathering in Paramecium.

Which of the following structures does not open into
the genital chamber of female cockroaches ?

(1)  Asingle median oviduct

(2)  Spermatheca

@ A pair of anal cerci

(4) A pair of collateral glands

Select the correct option :

(1)  GIFT involves IVF to help women who cannot
produce ovum to bear a child,

ZIFT involves IVF to help women who cannot
produce ovum to bear a child.

(3)  ZIFT involves IVF to help women who have
damaged Fallopian tubes to bear a child.

(4)  IUI can help a woman with premature

menopause to bear a child

80.

(a)

(b)
(c)

(d

81,

82.

83,

English+Telugu

B36% -1 &° 2l B SKoB - 11 &4 &3 ast
RESDHIn. HHE aXES Jodsresiits0d
RBE@S AN DoBE Fakosw.

BHLB -1 ST |

2efE08 (i) DgBogre SordIst
(BB2oh

2658 (i) srol o DoHse

2088 (iii) Dy TP DSOD
(@8B05H

oiRE sifo (i) 268 Jotheis) Eeereod® wbl
oS sote

S :

@ ® © @

@M @i @ @) )

@ v O @)

G @ v @ (i

@ @) @ @

8 (B0 DT FAS 2,88 BOTEAH Sedo S,

(1)  TSwTHo (EPBAF) 08 Erd Semeds
823a%h%0

@ %8 T¥o o women Hirdosio

@)  ErETDden (55 Searen) S5 oS e
Sodo

@)  Folndobod® ety HEsn

©d Qosst & Qogeren 8 §‘5n3§o/€§cr°
adarEcho &58 B8t

() &8 Srg5sg08 (Socinog) Gdesarery

@ B (redrBen

(3) a¥ x8 et Jorren

@ =¥ 28 35 ok

SO :\’)mm‘m&)& HBoHEw :

1) GIFT 38 IVF % €08 ¢&od Sosebo
OUEES SHobS wored) edid JohdD

RO HHHHDHH08.

(2) ZIFT 38 IVF % %98 @0l Somedo
0L wEIEPS w0 688 SavdD
BoH SBHBEE08,

() ZIFT 38 IVF % S9A dod Somedo
FoSTrRE TBRD WOLTIRYE (SPBEHS
Terenlen B0 FaHD (o IFhHhEos,

@)  IUI o8 Sioaho (f()o;&é Jbcdo) Eomy
B0o8 B8 (Fotpdhs) G8 Dozeso
FOSTPIE BRAHHEHE0E .
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84.  Which of the following is a proteinaceous and water
soluble photosynthetic pigment ?

(1) Xanthophyll

Chlorophyll

85.  Which of the following statements is correct ?

@

@

Acquired immunity is pathogen specific.

The exaggerated response of the immune
system to certain antigens present in the
environment is called Auto-immunity.

S)

Bone marrow acts as a filter of the blood by
trapping blood borne micro-organisms.

(4)  AIDSis caused by a group of viruses called

rhinovirus.

86.  All the components of the conducting system can
generate an action potential for the contraction of
heart muscle, but the sino-atrial node acts as the

pacemaker because :

(1)

All the other components in heart cannot
conduct the action potential.

(2)

®

{4)

Only the sino-atrial node is auto-excitable and
auto-rhythmic.

The sino-atrial node has a higher inherent
rate of depolarisation.

The sino-atrial node has a lower inherent rate
of depolarisation.

87.  Iftheratio of (T +C)/(A +G) in one strand of DNA

is 1.43, same ratio in the complementary strand is :

1) 035

@ 0.70

@) 143
@ 210

88. In a hypothetical population of 100 individual
having ‘r =0.5/female/year, what will be the
population size in 6 years (with e =2.72) showing

exponential rate of growth ?

1 1218
@ 739
@ 2012
4) 448

21

84.

85.

86.

87.

88.

A
DS adpds 8t (@ g8 Hban Heet
07 88esasly Sorr (BaPrerd SESE :
1) epofind
@ 25008
(3) wofPSasedS
@ g5%8

& (800 Togases® $0@od AN HBD.

(1) o0 K% ES ohsd Bsss €D
L}-’)E‘gséeéoa (Pathogen specific)

TEH8Ros’ 6 FY [BoassoH &
NE%ES P 0BT JoboSmAD Hyabo
PRITEES (5r9) (eefasmgdd) votrth.
of g eroforr H) Idp G¥ost &)
Sfat=itets] Km@é@o?ﬁ: SHT%0d.

AIDS (Dong)) o386 B35 osed 3sSe
Joesod® Kenrhevos.

@

@)

@)

(3555%es ésa’aéé 002208008 oy grrren Bdie TR
88 T2 SSab So88 Bostoed) Seord@rom. 0
Qe EPse Keand (BS° - w(Bchd &) eciogsore
5 D08, JoHEDe

(1) HoBSD WADS o srreen (Bt ol
58005 BaHBH.

Boe B85 e SRED Sgabo BIFES
oBusn Foho-ocird)s 48§ Kok,

Qo EO° Heand) KN grds @tﬁe}ﬁ)ééea
Bén BOA @ob.

R Eose Sewd S Ierds ofdsse
Bén BOA Gobd.

@
(3)

)

DNA &% £8506% )8 (T+C)/(A+G)=143
wandPoNd Sofrss Vet 2RB & dore
SO0,

(1) 035

) 070

@) 143

@ 210

100 5008 Sghen &) 28 BOZOS aeerd® T =05/
& / Sosgpo aF) ke 6 Bosdres® mmee
BOITeR0 (e=2.72 &) srsros od%)0 Bew
SrDHoNRHD Jod Gotood ?
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@ 739
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89.

91.

92,

93.

94.

Thymosin is responsible for :
(1)  Inhibiting the production of antibodies

(2 Decreasing the blood calcium level in old

individuals

(4)  Decreased preduction of T-lymphocytes

Increased production of T-lymphocytes

Choose the correct sequence representing the ploidy
of Nucellus; Megaspore mother cell; Megaspore; Egg
cell; Zygote; A polar nucleus of embryo sac;
Secondary nucleus and Primary endosperm
nucleus.

)] 2n; 2n; n; 2n; n; 2n; 3n; and 2n
@ 2n; 2n; n; n; 2n; n; 2n; and 3n

(3  2n;n;n; 2n; 3n; 2n; n; and 3n

@ ;2020 n; 2 n; 2n; and 2n

An example of flagellate protozoan is :

(1)  Paramoecium

@

{3)  Entamoeba
(4  Plasmodium

Trypanosoma

Which statement is wrong about photorespiration ?

(1)  Photorespiration occurs in C, plants and not
C, plants

(2)  Thereisno synthesis of ATP or NADPH
(3  RuBisCO has higher affinity for CO, than O,

RuBP binds with O, to form two molecules of
phosphoglycolate

Which technique helps to identify a bacterial or viral
pathogen in a human body even when its
concentration is very low and clinical symptoms
are not yet visible ?

(1) ELISA
(2) Totalleucocyte count

(@ Pcr

(4  Differential leucocyte count

The Pacinian corpuscle responds to rapid changes
in .

M) gravity
@
(3) temperature
(4  lightintensity

pressure

22
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BAERS BB et ST00

(1) 835 a£B0 G RiGd

(2)  HRs® 85 sPoho Fond SAKOR

(B) T-DogfRé 6680 w850 Bod

(4) T-DoRFiy 65BD SfiRod

BB Sorrsyd (Ploidy)  ZeDoT 8193 @

Lén“'mﬁ)g_@@dﬁaédﬁao&. eotrd: Seresio (Nucellus),

Sreodes ez ) ek (Megaspore mother cell),

Kipe 0% esiso (Megaspore), @ots Seasio (Egg cell),

Soasng Do (Zygote), DoxE ¢BFo|sssw

(A polar nucleus of embryo sac), &5@033 Bo|gsEsm

(Secondary nucleus) Ocko (s @oBHSEHS

So|g%o (Primary endosperm nucleus) Senghso.

(1)  2n;2n; n; 2n; n; 2n; 3n; 390¢» 2n

(2)  2m;2n; n; n; 2n; n; 2n; 08050 3n

(3)  2n;m; n; 2n; 3n; 2n; n; S0BCSw 3n

4)  n;2n; 2n; n; 2n; n; 2n; So8adw 2n

Beegidins (95w S8 et :

1 FoDoabsy

Q) - (BITRDe

(B) o esvar

@) FDHhavsy

508 &8(8a% (photorespiration) Somof &

TS’ OB KORRE B ?

(1) 508 TBch C; S atorhd, C, &8
23t

(2) ATP 8o NADPH Soghee st

(3) ° RuBisCO o8S %08, 4§ &csrgES
wbE 20sE) (Affinity) 55 éotwob.

(4) TDoth FINSTen emper DKL
RuBP&® 0O, 206855%08 (Binds)

508 Brswd® rfocr Bo BT TR wdsce
Mg S eary), 67 Somot Tm5H oeren wose
EQ)osERFonT & SEB T wridatr oo JET
%60 edseR) HBosSsy).

(1) 293 (ELISA)

@ o e RS Keed (Total leucocyte count)
(?) 2.6 (PCR)

(@) DS erxs¥ReS Kl

FBIHS Swo HIS® 68 Srdyes> (rapid
changes) {obgob :

1) st

@ =88 (o)

(3 efs
@) =08 §5s
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96.

97,

98.

99.

English+Telugu
95.

The hollow foliar structure in a wheat embryo that

encloses the shoot apex and a few leaf primordia is
called :

(1}  Coleorrhiza

(2)  Epicotyl

(3) Hypocotyl
Coleoptile

The increase in concentration of the toxicant at
successive trophic levels is referred to as :

)
@
@)

The chief function of vessels in the plant bedy is to :
1)

Eutrophication
Bioremediation
Biotransformation

Biomagnification

Transportfood materials manufactured in the
leaves to other parts of the plant.

(2)  Storefood material in the form of starch or fat.

©,

“)

Conduct water and mineral salts.

Eliminate excess of water.

A complex of ribosomes attached to a single strand
of mRNA is known as :

(1)
3)
)

Polymer
Polyribosome
Polypeptide
Okazaki fragment

The sequential events from initial stage till climax
stage in a succession are called :

®
®
®
@

Ecesis
Sere
Nudation

Migration

100. The protein coat around a virus is called :

(1) Core
Capsid
Trichome

Capsule

23

95.

96.

97.

98.

99.

A

Fioso 2ot B8snd® d HiE Somod griso
000k, Bl SPoGE PR HBckn §Y) Hig sorgoid
(Primordia) ©3800 &0, oo J5oerdd ?

(1) SwreroHB BohEdn (Coleorrhiza)
@) @0 DetSesm (Epicotyl)

B) of dusy {Hypocotyl)

4) (FrokB SohEdw (Coleoptile)

DAGrBE oo MRS DLorbise DS Y égo::eéa
EEorr 200 P ddotrh ?
(1) csoErdERS (Eutrophication)

(2) &5 98, (Bioremediation)
() 2@rErS) ) (Biotransformation)
4) oG SeAPESS (Biomagnification)

oot g Soggehd D ¢

1) woEe JEres® SEBd oS Serod
Baoes Bchisn

2) b0l o FHy ErISNS® eStoeRy dey
Bhssn

(B DAY 2B e wBerus Bare DobEsn
[ (36 aaBHESD

@ %3S 8L FonosKsw

Q8 P8 mRNA & 285508 %08y B&*Fswed
& Eore SHieoedd

(1) &OE (Polymer)
(2) DSRS0 (Polyribosome)
3) ODZHE (Polypeptide)

@)  aferd (PRFotn (Okazakifragment)

(@rtog &F Dol S8R B S8% (climax stage)
207 ©BlESosn (succession) &8 BKS EH
Joghtoleds & DEore LeorD :

(1) PS50 (Ecesis)
Q) (ESESw (Sere)
(3) oTTES (Nudation)
4 B[S0 (Migration)
100. 3o Dtop ) @D FHrodd S Diorr et :
(1) Do &
@ =8
(3) Edsw
@ 5
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101.

102.

103.

104.

105.

Name the element which is the main constituent of
the ring structure of chlorophyll and helps to
maintain the ribosome structure.

(1) Calcium
(3) Nitrogen
(4) Phosphorus

Magnesium

Which of the following represents correct match of
feature with the given set of animals ?

Feature Animals
(1)  Respiratory - Cockroach, Tapeworm,
system Starfish
(2) Bilateral - Hydra, Tapeworm,
symmetry Sea urchin
@ Jointed - Prawn, Centipede,
appendages Grasshopper
(4 Metameric - Earthworm, Leech,
segmentation Liver fluke
Cholecystokinin acts on:
(1)  Gastric glands and liver
(2 Pancreasand duodenum
(3  Pancreas and intestine
Pancreas and gall bladder

To protect and improve the quality of environment,
the Government of India passed the Environment

{Protection) Actin the year:
(1) 1953
@) 1923
@ 1986
(4) 1968

Which of the following pathways is involved for
packaging of secretory proteins ?

(1)  Trans face of Golgi body — Cis face of Golgi
body — RER — SER — Secretory vesicles

RER — Cis face of Golgi body — Trans face of
Golgi body — Secretory vesicles

(3)  Cis face of Golgi body — Trans face of Golgi

body —» RER — Secretory vesicles

(4) RER —» Trans face of Golgi body — Cis face of
Golgi body — Secretory vesicles

24
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t e

BB;ed Seocd Joywped®d O Jregsn P& VLD
Qoegeredy) ALgEegod ?

(1) sgchsw
2 oo
@)  Sigad

4 PYSH

% 18ob oA For adl0IX Jdegrard)

rogopsw.
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1) B S5 = TQofw, aF
sHdarts, S
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(@) Sopod Do - TeSBw, ned,
058 8

ESHRATOT S $5 w0HH0d :
(1) =85 Fofen B F8abo
(2) &oo Hde sodSrec
B) o DB Db

4) oo HobBck deedaho

TEeHETR $goSeeRs, Sreagd / Hoesed)s=Ry
(quality) & 0STR8, grEs ([H4hissn TS
(Botges) Sty 2 BodE 550" sarecDes?

(1) 1953

@ 1923
(3) 1986
) 1968

P58 @983 eFach & Bod > D Sy

ew T dotwod ?

Q) 8 b er§) IS - md 8 Sodd 2D
~> RER — SER — (D58 fPgaoen

2 RER - red erd 5038 5 - m§ el
ErS) DT = (88 Fleoen

@ ™ erd HodS B8 ol erd @5 IS —
RER — (58 RPeaven
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106.

Substance Glo.merular Reabsorbed | Urine
Filterate

(i) |Proteins 2g 19g |01g
(ii) |Glucose 162 g 162 ¢ Og
(iti)|Urea 54 g 24 g 30g
(iv)|Creatinine 16g 0g 1.7 ¢
(a) Glucose is completely reabsorbed
(b)  Ureais partially reabsorbed

(<)  Proteins are secreted into urine
(d)
Which of the following options, in view of above
statements is correct ?

1) (a)(b)and(c)
@ (). (gand(d)

Creatinine is secreted into urine

CB) (a)(b)and (d)

107.

108.

109.

110.

4 (@ (9and(d)

Opposite type of phyllotaxy is not presentin :

(I} Guava

(2)  Calotropis

(3) Mint
Mango

In gene therapy to treat adenosine deaminase
deficiency disorder, which of the patients blood cells
are used ?

(1)  Erythrocytes
@ Lymphocytes
(3)  BothErythrocytes and Lymphocytes
(4} Thrombocytes
Which one of the following is not an IUD ?
1 CuT
{2) Muldload 375
(3)  Progestasert
Vaults

Growth hormone Auxin was isolated by F.W. Went
from tips of seedling coleoptile of :

(1) Maize

(2) Wheat
@ QOat

4 Rice

25
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107,
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110.

A
éavgo OS50 [55%5: 3% JobEE |Sgo
(@) |@ds 2(. 19w 0.1 7.
(ii) [Ke®E 162 re. 162 1. 0.
(iii)|comocse | 54w 24 1. 30 .
(iv)| 8B5S | 1.6, 0 (re. 1.7,

(a) KrSE o S ERoSaHHos.

() SSroahr FrhEorre B hosarhsod.
© (% SrBod®s Botedaron.
(d) (B8RS SomBodtd [BDotenthdod.

& 808 JSdrerard 8 P e egedore
%058 ?

(1) (@) (b) 2Bk ()

2 (b), () 0B (d)

(3)  (a) (b)sdo» (d)

@ (@ () 0a (d)

60" wddny HF DorpdEnos :
1) =50

2 559rsS

(@) o8

@)  5r8

08308 Boler &5 odofmrds ey 08
283m08 Mo o8 JeroB 8 Serod:
EIRPAFE

(1)  0B§"¢5) (Erythrocytes)

(2) o5y (Lymphocytes)

(3) 0GR, VoPFRel) - Boke
@)  ErosTpey

& (Bots DT R 8B TUD 5o :
(1) %8 T(CuT)

(2) =fe’E 375

() &BLSE

@ =%

2P dap otn oI PRI «B)S (Auxin) o3 5B
HLE S T W) (FRo Kob¥ (coleoptile)
oif griE® $08 DSEHD Feeth For HEBoTD.

(1) SHER) (Maize)
() %% (Wheat)
(3 && (Cat)

4 X8 (Rice)
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111.

112,

113.

114,

115,

In the heart, as the action potential reaches the
AV node from the SA node, there is a delay of the
action potential. This delay is important because :

(1)
2

&

It allows atria to rest.
Itallows a stronger right atrial contraction.

It allows ventricles to receive all the blood

from the atria.
(4) Itallowsrightatria to receive theblood from
vena cava.
Pollen grains can be stored for years in liquid
nitrogen, maintained at temperature :
(1) -—20°C
2 -—70°C
(@) -19%6°C
49 —120°C
Which of the following statements is true for phloem
in plants ?
(1) Sieve tube elements are multicellular with
wide lumen and rich cytoplasm.
@ Companion cells help in maintaining the
pressure gradient in sieve tubes.
(3  Phloem parenchyma is abundantly present
In monocots.
(4) Phloem fibres are made up of
collenchymatous cells.
Match Column - I with Column - II and select the
correct option.
Column -1 Column - 11
{a)  Plasmodium () Ringworm
®  Wuchereria (i)  Amoebiasis
()  Entamocba (i)  Elephantiasis
(d)  Microsporum {iv) Malaria
Option:
@ ®& © @
O @ ® @ )
@ v @ @© /G
@ @ ) @ )
@ W @ @
Tree planting helps reduce global warming as

trees:
M
@)

©))

(4)

Give out O,

Create shade thereby cooling the ground
Can sequester CO,

Can respire in light

26
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HoBS° Batrdio AV Smo0% SA e od
oy Bairdo sodgEHEob. & soso 59
5830 SmggRie.

(1) b 558 AFod BHENEO8 Heo 805500,
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)
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1) -20°C

@) ~70°C

@) -196°C

@ —120°C
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GO0

B Tod T (B568® Sory
DBErostos® &yl
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3)

(4)
Both Hdedt BENS TR DHOMe 228500 DB,

BB -1 S8%-11
@  FD9EaLD () Bohzg)
(b) Sedbair (i) ©HSFELD
(€  doédvar (iii) FHesseen
d ERHES (iv) SB6che
858

@ & © @
O & @ @ (i)
@ vy @) @ ()
G O @) @ @)
@ (v @) @ @

oo TPt HrErdiin HHEod. TS 80
SoHeo 8ob (HBuD by,

(1) o82SH ddde Bokoe

@ &% 5BD o Spwtosnds

@)  CO, % Iegpscn Dototnod (sequester)
@) TendHnd® axRosEsn
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116. Van Mahotsavais a festival of :
@
(3}
4

Planting frees in open,areas
Taking oath to protect trees
Worshipping trees

Conservation of sacred groves

117. Which scientist proposed ‘Rivet popper hypothesis’

related to biodiversity and Ecosystems ?
(1)
(3)
@

Alexander von Humboldt
Paul Ehrlich

David Tilman

Tansley

118. Select the wrong statement :
(1)

®

)

Law of Dominance and Law of Independent
Assortment were proposed by Mendel

Linkage and recombination were discovered
by Sutton

Three scientists independently rediscovered
the Mendel’s laws in 1900

Chromosomal Theory of Inheritance was
proposed by Sutton

4)

119. Continued self-pollination results in:
1)
(3)
@

Heterosis

Inbreeding depression
Polyembryony
Genetic drift

120. An inflorescence with younger flowers at the base
and the older ones at its apex is known as :
() Head
(2) Racemose
@ Cymose
(4) Hypanthodium

121. Continental drift led to disappearance of a number

of South American mammals because :

(1)

there was an outbreak of a number of
infectious diseases

2

sudden change in the climatic conditions

they were outcompeted by more highly
evolved animals reaching here from North
America

“)

alteration of vegetation was not conducive to
their survival
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B8 DS oo HID SrBiRos

1) b (5B’ Jnged Passn
Q) ¥ SotgnE (Birendn Sakot
(3) ée)gfu;ﬁa 3rRoSts0

(4) DY ST (sacred groves) Sobges

2% 3Ko DOy wses é?gaﬁ;gméa Booofod “BIS
DB JBEYR” L |HBPOODD BPFHeptd

(1) »8rord 8 Sud’y

(2) >SS IT0OR

(3) BI&E BSHErS

@ w3

BQS srgasio MHGohaw ¢

1) =88 ?om;oéaﬁw Svslovw RS oIl B s
REpoBeR) oS (HEFHoTE

SrorfiE Hbakn DN So@raTed) «‘6%5
ey

1900 SoBeBsoe® Sorid w@(Rgen o
oS Rrpomrod B eddomd
EePsn odo8s depored (Chromosomal
"Theory of Inheritance) 38 (H8H0RD

(2)
3
@

sHIoe Sol8)Hn Jtodlom xudAL o°J
DUERPH0 S AGorr BoLood
(1) HoB8 Besddo (Heterosis)

(2) sod: (FaudS oModeen (Inbreeding
depression)

2350 Hotssd (Polyembryony)
4) | esog Dapdid (Genetic drift)

PTG egine® S¥grriost B8 (younger) PEyen
Ho8ai egrrod® $nadE (old) Same 883 B3
D)y e BEOIT LR :

(1) Bo (Head)

(2) ©I@)d doRaw (Racemose)

(3) 2% (Cymose)

(@9 TEFoglcho

pot Sedo (Continental drift) S0 oI5 8w
o el éﬁmﬂw ©0SDoLTPOD. QoSS |

(1) =8 BP0 Fo|geaoE amgioen (HwdTow.
2 TEstn D)o oSG Srdto Sol.
(3) &85 ©bse Dol JND whE Boero
Bobd modHew DB o) Jgrer PSS
Denddabsore Sevom.

B E57e08 RVEH ée)é.ééﬁwm"dﬁao (o“)e)é
BoBE)S® Srdy) Dobdolh Sod 0 =HB
wdEroor 8.

)
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A
122,

123.

124,

125.

126,

Which one of the following is not true for the
experiments of Mendel on pea ?

@
@
©)

)

He chose characters of two contrasting states
He used true-breeding lines

His observations were based on natural, open
pollination

His experiments had large sampling size

Restriction endonucleases are :
(1)  Used for in vitro DNA synthesis

Synthesized by bacteria as part of their
defense mechanism

Present in mammalian cell for degradation of
DNA when the cell dies

Used in genetic engineering for ligating two
DNA molecules

Which of the following statements is not true ?

0

Descending limb of loop of Henle is
impermeable to solutes.

@

©,

()

Distal convoluted tubule functions in K,
Nat homeostasis

Descending limb of loop of Henle is
impermeable to water.

Loop of Henle is largely responsible for
concentrated urine

Which of the following pairs is not correctly
matched ?

Vegetative Propagules Example
(1)  Offset - Water hyacinth
(2) Eyes - Potato
(3)  Rhizome - Ginger
Stolons - Agave

What is not true for an angiospermic embryo sac ?
1)
2)
(3)

®

It is present within an ovule.
It represents female gametophyte.
Its formation is preceded by meiosis.

One male gamete is discharged into it during
fertilization.

28
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123.

124.

125.

126.

English+Telugu

2T oS Dol IEEPODS (HE+ HoodBETS
2l T DOGRE =0t ?

(1) Bo F00T oFererHs YT Kb

2 éncg (FEaSd (True-breeding) E5mR) (lines)
D &S0

©BS HBEDODS ofsen 258 B (natural),
D)8 (open) oo BoBHTe oS SEEHASD
wdl FTrmrod® XN SHrarod
(sampling) 2880So.

BRES Do&iSrsddheitoe ©iHSd :

(1) S50 (In vitro) DNA SoFJeweb
ErslonylTotatilab it

wfbciren B SERB dovyin Fdgdy
o BEHns® YoFhoHEotran

Seoikn 350008 S'RSptd DNA DYRS5560
Esmrodt dotood

2y roi8ssns® Do DNA emdHedd
DAOHEERE SHBPAE

@)

@

(2)
)
@

& (Bots DEYR AE® oE ey 96 . T
HBoH:w.

(1) TRV ) wSE° P8 [rdered oS
r‘ﬁa’wéom SoLN0H. .
Srorlf $o%9E P K+, Nato siopest
B Bod.

B0 @) o305 TR IBE oy
H550rT G0N0k,

QB850 Jod)R Samigo JK)EerQS IS
aLigd P0h.

BI55DSHBBS s’ DB KO assrd ?

(2)
3)

@

whah (BdgSs TS
Eeren (Vegetative
Propagules)
(1) ©5e5 (Offset) - DB e Bos
(Water hyacinth)
(2) &%) (Eyes) - 2OME tHodH
{(Potato)
(3) &y (Rhizome) - oo (Ginger)
@ Rfos (Stolons) - onsS (Agave)

S Berer HoXEE Domobd Taged® 58 o
=% ?
{1
(2
3
4

Bd @oXdw (ovule) %o aotnod.

26 & Sodrr e $rdd00.

Eohsse et Swolhre 28 8ok,
PobEten Hkchod® el HR Sodrr Dassn
82658 oo,
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127. Which of the following enzymes is not protein ?

128.

129,

130.

131.

1)
&)
(3)

The technique of DNA fingerprinting is superior to
conventional fingerprinting because it can:

1)
@

©

)

Polymerase
Ligase

Lysozyme
Ribozyme

Generate unique fingerprints for each finger.

Compare the whole DNA sequence of two
individuals.

Differentiate between polymorphic DNA
sequences among individuals.

Be generated more rapidly, and is inexpensive.

Choose the false statement regarding Petromyzon.
(1)
@

®

@

The body is devoid of scales
Mouth is circular and lacks jaws
It migrates to the ocean for spawning

The circulatory system is closed

Which of the following symmetry is exhibited by
Echinoderm Larvae ?

@
@

Radial
)  Asymmetrical
@)

What is the meaning of Bt in Bt cotton ?

1)

Biradial
Bilateral

Baculovirus treated cotton seeds against pink
boll-worm.

@

Bigger thread of disease resistant cotton with
better tensile strength.

)

Cotton produced by Biotechnology using
restriction Enzyme and Ligases to resist
microbial infection.

Cotton seeds carrying an endotoxin gene from
Bacillus thuringiensis against pink boll-worm

29

127,

128,

129.

130.

131.

B85 =0 doBSw 06 ?

(1) S®3Be (Polymerase)
(2) Bné& (Ligase)

(3) SRS (Lysozyme)

@) 3EBS (Ribozyme)

Sol@orah HortBiofol (Conventional finger-
printing) DNA %or$620&0R (DNA fingerprinting)
%ol &85PpHS Bendeed8 o860 ¢

(1) 8 Dot |STEPS donSdon
DS

s5% Sge DNA S0 (S8 Denyes

BHes’ FOIrg)E DNA S [Edre,
0 Do’ &%) 8D DFPdoSto

S35 9t & Forssm ad)g Sabdy

@
3)

@

e AD8 Jowofod & Ty 86 o ?
(1) FbBo Srendos: OA dokth

2) &S moomr Hbdsn S5ken FHhor
SOLNOh

Faeleey 33%&??0% Rword8 Sod Bod
20ofE 8% 538 a")éo'sé

(3)
()

APSUGrE™D Bogeren O KPR BOA dokran ?
(1) Boch JHso

@ o5 dve

@) afech g

@) ayegg g0

Bt $586° Bt o3I ?

(1) 205 &Earf) (Trah e Horb) oedore
Bgrare 58 Ddrob erth® 385 TRE.
S BB weorr & BRASHEE 58 Tng)
G wedo.

A5 P8BS TR wgrborr e&)8 TS $88°
BRES DoBS Moo FRded Srgdde
2Bo|B30e0 5ot AarBosERS SXTPARRS.
S ooy PHOAH FRHI ardeys

EPO0TDNT 00l BB JoEHFET i
58 DEed® BITHI0.

@
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A

132. A couple claimed in court that a child belonged to
them. Their claim can be trus if the DNA
fingerprint pattern of the child shows :

1)

@)

@)

100% similarity to both the parents’ DNA
fingerprint as both contribute equally to
zygote formation.

100% similarity to mother's DNA print
because of maternal inheritance.

100% similarity to father's DNA print due to
large number of mitochondria in sperm.

50% bands similar to father and 50% similar
to mother DNA fingerprint pattern.

133. Select the wrong statement

1)
@
&)

)

There is now enough evidence that essential
processes like metabolism, translation and
splicing evolved around RNA

DNA may act as a catalyst

RNA can splice itself and is also able to act as
a catalyst

DNA stores genetic information

Which of the following statements is not true ?

A single organism can feed at several trophic
levels

Detritivores feed at all trophic levels except
the producer level

Primary consumers are herbivores

Energy pyramids of an ecosystem tend to
diminish at higher trophic levels

The difference between Marasmus and Kwashiorkor

134,
(1)
3)
(4)
135.
is that :
(D

2

©

Marasmus is caused by deficiency of
Vitamin B while Kwashiorkor is caused by
the deficiency of Vitamin D.

Marasmus is caused by a calorie deficiency
while Kwashiorkor is caused by protein
deficiency.

Marasmus is a simultaneous deficiency of
proteins and calories while Kwashiorkor is
due tojust protein deficiency unaccompanied
by calorie deficiency.

Marasmus is a deficiency of just proteins
while Kwashiorkor is due to a deficiency of
both proteins and calories.

30
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135,
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o8 55S° Sosiden duardl & SPSohe:
EEdoTeth. & DNA DoKER0S S80S
& Qegorre ¢o8l © Hodhde ®f QessDHEOB.

(1)

(2

)

(4)

BQB0E0e 5550 DNA 2085208 (Eod
100% 8o, Johsod Bookny Hac
DEEEPDE BBHET FEPoertd,

Sy ©N08588 Ewore $9 E@wE) DNA
HorbiZoss E5o8 100% H6Dso.
Bo@ DNA doibDos (EHos® 100%
JODFH0B. Dotigod HEEnod® ©biY Soggs'
Doestzro|Bcse dotrow.

50% Séen (Bands) Sol88° SoBakn 50% $§
DNA 3052085 Edres® 8 eotnod.

6?@6‘9 a°§a:§2§3 1HB0Pw !

)

(2
3

@)

Soogpggod (BBchen - HDBadH, eXBepdo
HoBcso &) cwdofi erofls RNA Sep
BreErofS8 M errdinod

DNA &@ssorr 3 Datwds

RNA o8y (splice) &rirob, a@Ssor 59
B

DNA &° el S&portisn Doy Sabed

& (8ob Togmed® D6 $8 i ?

(1)

¥ £ oy N 3;0&3@&35 w5850
B850
aaiss ﬁ;cm&) Eod DADS el FEY
5;033065 2B e DYHstoen) eo
&08%0%

SrE0E DAGIeRSen FBgEEren

sitn SRPN B MG efSs PR
Fones® Srharon

BT Sabakn shairtbe S e :

(M

(2)

DoeHS s eI B &% Hod
Boorbehod 500 TXRATES DS DLMHS
D &%50 Sl Swathdod.

$ooe8 oHNd srobe 8o Soi
BeorHEbod bak SROrGE eose (988
S50 S0l Senrheod.

B0 (A Hban sede MY SHo
B8 LerHdod Db SRorE  swle
508 Somogio o PSS SHos%S
Seoresol.

Bos 1905 &% 8% Senrbibod Hdah
SRS @%ss (@8 o Soby
B0 6508 Seorhidhob.
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e0D 136. Theenergy liberated per nuclear fission is 200 MeV.
: If 102 fissions occut per second the amount of power
:N‘:(JDO

produced will be :
o& @ 32x108W
eso 2) 16x108W

(3 5x1011w
NA

(4) 2x102W
0 %
- 137. If the angle of a prism is 60° and angle of minimum
S deviation is 40°, then the angle of refraction wil

be:
1 9)
y @) 3o

@) 20°
S0 3 3
o7 4 &

138. Inanexperiment of photoelectric effect the stopping

ST potential was measured to be V; and V5 with

incident light of wavelength A and A/2, respectively.

The relation between V, and V,is:

1 V<V
8 V,>2V,
50

139. A uniform magnetic field of 0.3 T is established along

the positive Z-direction. A rectangular loop in
A XY plane of sides 10 cm and 5 em carries a current

of =12 A as shown. The torque on the loop is:

Z
S I
4 Y
S I
X
o
2
2 (h  —1.8x10° jNm
S
@ Zero
<

0 (3) —18x1072iNm

Fas
@)  +1.8x1072 iNm

136.

137.

138.

139.

A

28 Bols DNBS® JeoLhS 4§ 200 MeV. ¥
RS 1070 DYen 20N, &H)B wowd FdoiEn
DS :

(1) 32x108w

@ 16x108W

(@ 5x1011w

@) 2x102 W

HRED Seasiin 60° £oBA VG SR Scasim 40°
oo S5 SBedn Dens

@ 30°
@ 20°
@ 3
4 &

o P DesogB HOBSW BT 0E® EorigTrges
As0Bcin N/2 K se08 HESHn JolSHth Stkme
005 K dgsmen V, Hbako V, wand V,
Bk V, © St Sowofiso :

1 Vy<V,
@) V,<V,<2V,
@ V,=2v,

@)  Vy>2vy

03T Ko D858 wchdmpd Fssw $5 Z pIe
a8, XY Sosn6® 10 cm 5060 5 cm Zhesnen
Ko af BYSBORSE Sochin Ho 1=12 A
6506’ SrEdd Qorr (H9008. © Sodhin
30 Bodo ee8) Deods

4

‘[ﬁ'

A

() -1.8x107? jNm
@ g
() -18x1072iNm

A
4) +1.8x1072iNm
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A

140.

141.

142,

32

A body initially at rest, breaks up into two pieces of
masses 2 M and 3 M respectively, together having a
total kinetic energy E. The piece of mass 2 M, after
breaking up, has a kinetic energy :

E
o 3

| e

)

3E
® =
@ 3

A satellite of mass m is in circular orbit of radius
3 Rg about earth (mass of earth Mg, radius of earth
Rp). How much additional energy is required to
transfer the satellite to an orbit of radius 9 R ?

G MEm
@ i8R,

3GMym
@) 2Rg

G MEm
(3) 9Rg

G MEIII
@) 3Rg

A thin uniform rod of mass ‘M’ and length ‘L’ is
rotating about a perpendicular axis passing through
its centre with a constant angular velocity ‘w’. Two

M
objects each of mass - are attached gently to the

two ends of the rod. The rod will now rotate withan
angular velocity of

1
n @
1
@  §”
1
G 5

English+Telugu |-

140. wBotfos® af H%D Doeddne® eoh. e Ik

2 M H0cin 3 M @hmeden fo Dot Soo&enrre
SADSE. T ISy KB=Ed E. SNOS Sloard
2M (55008 Ko 0¥ Gwk) Ko 48 :

1)
@

3

%) W wim wm
t mltﬁ 1

@)

ol

m 535078 Ko a8 &B|fseam &iednd 3 Ry méﬁgm
e Hzeeed éggés &0 (Erd BEoe8 Mg, g
Togegsm Re). © SBERY 9 Ry Tgrgam Ko 855
&8 HoBoBerds Ny 48 ¢

1) T18Rg
@ Tim,
G MEIII
(3) 9Rg
G MEm
@ iR,

M (EEgeE, L D Ko 28 Deidd D808 €&
R Sogsg Doz ook PG wow ofsn Jow ‘o’
38 Sdch Bz hmo Jotid. aFRS
M

3 (£55550°8 50 Bod SPed © é% Borh DRBe
0%, © 86 = & Sdab o8 Pod :

1
n =@
1
@ B°
@
@ 3

English+
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143. A cell of emf E and internal resistance ‘t’ is
connected to a variable external resistor ‘R’. The
graph which gives the terminal voltage of cell 'V’
withrespecttoRis:

@ T
v

O R—>

(3)

< >

@]

R—>

@)

<

0O R—

144. Imagine earth to be a solid sphere of mass M and
radius R. If the value of acceleration due to gravity
at a depth “d’ below earth’s surface is same as its
value at a height 'h" above its surface and equal to

% (where g is the value of acceleration due to gravity

h
on the surface of earth), the ratio of ] will be :

4
a 3
3
(2 >
2
® 3
@ 1

143.

144.

A

E emf 500650 ‘1’ @088 A5%55m e .8 fotssind
R S0 armeissnd 508, possy 95t
HES0 ‘V B Ro gy dowogsn v Bhas
Heoddw ¢

1)
E
o |
Vv
O R—
E
(3) T
v
C R—
E
@ T
Y

0O R—

gD, Rmegé‘g:m HoBas M (Bsoe8 He a8 5055
Fgsomr arodHstHdn. ¢ a5d8usn Hod
‘& bt sy Strsn Denld 4R aKBSOBD
500D ‘N IHSE® Ko Hrtdy SBesnsh SEmss,

=D Do Bwons (gert asosusap sy

h
Seteasin ©on) 798 Dexnd

4
® 3
3
@ 3
2
3 3
@ 1


web220
Oval

web220
Oval


A

145.

146.

147.

148.

149.

A parallel-plate capacitor is to be designed, using a
dielectric of dielectric constant 5, so as to have a
dielectric strength of 10° Vm ~1. If the voltage rating
of the capacitor is 12 kV, the minimum area of each
plate required to have a capacitance of 80 pF is :

@ 217x1076m?
() 250x107% m2
(@) 125x107° m?
@) 105x107% m?

Inside a parallel plate capacitor the electric field
E varies with time as t2. The variation of induced
magnetic field with time is given by :

(1) novariation

@ ¢
@ t
4) ¢

A ball of mass 1 kg is thrown vertically upwards
and returns to the ground after 3 seconds. Another
ball, thrown at 60° with vertical also stays in air for
the same time before it touches the ground. Theratio
of the two heights are :

M 1:2
@ 1:1
3  2:1
@ 1:3

When the temperature of a gas is raised from 30° C
to 90° C, the percentage increase in the r.m.s. velocity
of the molecules will be :

@ 10%
@ 15%
3) 30%
@ 60%

A light beam is incident on a denser medium whose
refractive index is 1.414 at an angle of incidence 45°.
Find the ratio of width of refracted beam in a medium
to the width of the incident beam in air.

Q  1:42
2 J2:1
@) J2:43

Bz

34
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English+Telugu

109 Vv~ DeigS &% SagEn Ko a8 Jdross
Hog LB, 5 MsxE 6°48 Jorostn Ko JEys
BP5E50 SDHAFNOD LredbeyS B, & 36
Bog), SPE TS 12kV. 80 pF3RBT) soierds
e.6% 0¥ Gwg) 05 Jereyso :

(1) 21.7x107% m?

(2) 25.0x1075 m?

() 125x107° m?

(4 105x107°% m?

8.8 $Srods Dol 3FRwb 6% 8 Fssw E
Tosn 2 & Srthdod. e sodnd® $r8y) 308
(BB ocHIos FEsnd® Srh) :

(1) ooty Dot
@ °©

@ ¢t

@ ¢

1kg (555078 o 2089 vonore 8 HHOS SHrd
® D08 3 DEDO SHTE ¢rHE BOA JHI6.
©0erd8 60° Slasns® HHBY IS pod Erre w0
Srasn o8 Btk Sooth mHSt ah. o
& Botd Jfe S :

1 1:2
@ 1:1
3 2:1
4 1:3

0.8 St Goody SRS 30°C 900 90° CH DY
o) B r.m.s. ot DHHBY TEEw :

1) 10%

@ 15%

3)  30%

@ 60%

1414 SEgSS Hmssn Ko Foldd SrssdD B
45° 583 SPeadin Botidey o8 od Homdn HBSH
Tohob. & omgsne® Hfasss 8 Yo D
&S B Howd Ieye ek APHE Dexd :

M 1:42
@ 2:1
@ J2:43
@ 3:42
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150. A body starts moving unidirectionally under the

151.

influence of a source of constant power. Which one
of the graph correctly shows the variation of
displacement (s) with time (t?

1 5
1) T
0O St
> e
2 T
o St
@ 3
f
O —> t
@ 3
'
O —> t

In the electrical circuit shown in the figure, the
current i through the side AB s :

100 A
A —
10\£L .
13200
30 B 300
10
—A
¢y 33
1
—A
@
10
—A
®)

6
@ =4

35

A

150. 2.8 35 EKs w38 (Berso Jos ol Sy 8

151.

DBHISOT SienDe. sosy () & Pdigodsm
(5) T oKy 1BobrRS & Berdeasin B8 wows
Do LordBos ?

@)

b

2) N e B

@) ]f i
@ ? i

- t

Deose® S DB SecHos® AB ebesr Home
DERS (Haesrsw i

100,
10V ,
m
30 B 00
10
—=A
1
~A
@ 3
10
—A
® &
6
2 A
@
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152,

153.

A cyclist on a level road takes a sharp circular turn
of radius 3m (g =10ms ~2). If the coefficient of static

friction between the cycle tyres and the road is 0.2, |

at which of the following speeds will the cyclist not
skid while taking the turn ?

() 72kmh-1

@ 9kmh-!

(3) 108kmh~!

(4) 144kmh-!

Two sides of a semiconductor germanium crystal A
and B are doped with arsenic and indium,
respectively. They are connected to a battery as
shown in figure.

A%

||
| -

The correct graph between current and voltage for
the arrangement is :

v

@)

C

[ —

6

O

[ —

+—V

3) X l

36
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152. o8 RBS S¥rth Sfoge B°ER 3 m aegegEm

&%) HTSB P BT (g=10ms ™ 2). DS
055 Hobd 5 i 2,85 $o8gs oS
0.2 wond (Bob Jrres’ &S Fmd o S48
288 (8ol Hdore © EeRiD Bootri,

(1) 72kmh~?
() 9kmh"!
() 108kmh!
4 144kmh-!

206AaPo  (germanium) HHBEED Do) Tokh
Epgnen A By B «B)08 (arsenic) Sobain
sofcho (indium) & SHsre &5 IBs. =8
Hersns® SrhS DESore a8 Db OIS

V'
!
1

E00en JHdatny é@eﬁe_} 505 & 08D Sowohod

%8 ®and BTyrdso :

Iy

(1)

O

vl

I —

2)

O 1
—V
—V

@)
@ ( !1
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155,

©

156.

English+Telugu
154,

Two coherent sources of intensity ratio o interfere.

The value of M is:

max+Imin

2Ja
OF=
1+«

@ o/
1-a

©) 1+a
o

o 3 i

@ 1+a

In a certain planetary system, it is observed that one
of the celestial bodies having a surface temperature
of 200 K, emits radiation of maximum intensity near
the wavelength 12 um. The surface temperature of
a nearby star which emits light of maximum
intensity ata wavelength A =4800 A, is :

5000 K
2 2500K
(3 10000 K

4  7500K

From the circuit of the following Logic gates, the

basic logic gate obtained is :

A

B Y
(1) ANDgate

(2) ORgate

3) NOT gate

NAND gate

37

154.

155.

156.

A
dS8 S8 « &) Botd Bowols wdtre S5 BEGeED
Jobs, max ~Tonin Dend

max Im.in

2o

1+«

(1)

@ 3/
(3}

@ 2

2.8 DB (1 SoXesws® 200 K axsse &S
fo af elg 309 12 pm ééof@_é&én 3G 185
S Ko DB S Bothos. A=4800 A
BBoNGED 5 1BY JBE Ko 08D STRELD
Bakoeoss BHEE® e SgESw Tt 65080 aPris
wenss ;

(1)  5000K
)
®)

4)

2500 K
10000 K

7500 K

BotS S8 ersE Rewe Sedhdn SHod (e
B8 TS Sd000

A
B ¥
(1) ANDAS

(2) ORRAS

(B) NOTAS

(4) NANDTRES
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157. A bulb connected in series with an air-cored solenoid

158.

159.

is lit by an a.c. source. If a softiron core is introduced
in the solenoid.

B ﬁ Solenoid

f2ap)
=

(1)  Thebulbwill glow brighter.

(2)  Thereis no change in glow of bulb.
@ The bulb will become dimmer.
(4) Thebulb stops glowing.

A molecule of a substance has permanent dipole
moment p. A mole of this substanceis polarised by
applying a strong electrostatic field E. The direction
of the field is suddenly changed by an angle of 60°.
If N is the Avogadro’s number the amount of work
done by the field is :

1
(@ ZNeE
2 NpE

3
—NpE
@ NP

@) 2NpE

Two open organ pipes of fundamental frequencies
n, and n, are joined in series. The fundamental
frequency of the new pipe so obtained will be :

g +n2
0 a7

Jn?+n3

4y Iip

2

©,

@

nq +112

(n,+n,)

38

157.

158,

2

159.

English+Telu.gu

™d wodTHiEn Ko ABTronEH BB X of)
50D aHb. ac w5808 ofy% IDA0DG. HEH
a0 ABarons wodoyneg® 3Gy :

B ABaea&E

O

(1) o af) K &8s Jenddod.

2 = od) Jebs® Srty soi.

() © ad) Iexrd SrHEod.

@) o af) Joro eHdHod.

88 BTEH emd) @) TS RS gridsm p.
.8 33'36 Hoegnid Edess e R S ) F|850e®
(D50 30:’:;83&;6&5 eskygorm ea |50 BE 60°
Srasine® SrgyTd. N edkit oSmE® Sogy eons
© FESD BD B Dend :

1
(L) ENPE

NpE

3
)] ENPE

4) 2NpE

n, 00D n, (FFoE P Ko Both 3BDJ
o8 pHeDH FAS L0bTH. ¢ FEPH )
a0 TP

nq +112
o 5=

\fn%-l—n%

Ny

2

3)

nq +n2

@

(n;+ny,)
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160. A metal block of base area 0.2 m2 is connected toa | 160, B0’ S5 Do 0.2 m2 3] SB50 Ko el

0.02 kg mass via a string that passes over an ideal s a 0 &
pulley as shown infigure. A liquid film of thickness D g 002 k8 Exms o Sev i

0.6 mm is placed between the block and the table. oty 58 Dotore o S08S" $0F&. 0.6 mm
When released the block moves to the right with a Dol Ko (155 s BgH Hbaty wye BValy
constant speed of 0.17 m/s. The co-efficient of BODTE. Derese 3&,5;@;@ g 5;5% HA35%
viscosity of the liquid is :

0.17 m/s RESES* 88008, wons « (B50 Dws)
R)c)gé Des¥sin Den -

Film

0.02kg
= 0.02kg
(@) 345x10-2pa .
() 345x1073pa-g (1) 345x10-2pa-s
) 345x10?Pa-s (2 345x1073p, .,
@) 345x103Pa.s () 345x102Pa-s
(4) 345x103Pa-s
161. Two reasons for using soft iron as the material for
electromagnets. 161 DeStiabdmossn Fammos DED 25080 6D
@ high permeability and low retentivity o seSesknen
2 low permeability and low retentivity (1) oEys DGOHHOS Hodaiw S5 8BoBIA
(3)  high permeability and high retentivity ) S5 DEHHOS HrBasn 855 880BDA
() low permeability and high retentivity G) IS 1GLBOA BBty NS BBoBNS
Y 58 2B St IS BHCBIS
g 20Y %
162.
E
—q
9
A wheel having mass m has charges +qand — qon
diametrically opposite points. It remains in m (G508 Ho 2.8 g +q D0 - qeSaes
equilibrium on a rough inclined plane in the Egﬁ)d:’o!bah“ o e85y HoHHe G SOAAFB,
Presence of a vertical electric field E. Then value of o8 KH% Ho mven Son o DexE é@m
Bisg ES%og06® $55om98 $0ncinsa. eans EDens -
M £ o ™8
1 q
mg mg
—5 > mg
® = & 3
@) mgtand ) mg tand
2q 2q
4) Mgiand @ mg tan §

q q
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163.

164.

165.

®

®

40

One mole of a gas obeying the equation of state
P(V —b)=RT is made to expand from a state with
coordinates (P;, V;) to a state with (P,, V,) along a
process that is depicted by a straightlineonaP—V
diagram. Then, the work done is givenby :

%(Pl +P ) (V. - Vp}

® 3P-P)V-Vi)

B BBV 42

{4) %(Pz —Py)(Vp+V; +2b}

A circular coil of radius 10 cm, 500 turns and
resistance 2 £} is placed with its plane, perpendicular
to the horizontal component of the earth’s magnetic
field. Itis rotated about its vertical diameter through
180° in 0.25 s. The induced e.n.f. in the coil is
(Take Hy=30x10~5T):

(1)
{2)

14x1072V

26%x10-2V

@ 38x10-3V

4) 66x1074V

The density of a metal at normal pressure is p. Its
density when it is subjected to an excess pressure
pisp'. If B is Bulk modulus of the metal, the ratio of

P s
p

(2)

G)

B
14=
@ 1

163.

164,

165.

P(V - b) = RT 28 $2088eind oS0y o8 3rd
FaswdS (P, V) Wrdse 28 0D (P Vy)
R B P-V DOZHE’ FrDiS $6E0 (HBSD
opNed wg%séén Jobods, DS B :

W 3PPV V)

(=

@) E(Pz P )(V,-Vq)

o) 35(1’1 +P,)(V, = V; +2b)

@  S(Pa=P)V2+Vi+20

10 e méﬁga’m, 500 oty Sodake 2 0955550 Ke
2.8 HEesey e TR oo, g, waDRFS
TS50 GwoE) 48a $Er0SS eoddnd eomore
@otHSen whP. T vow THEw Jod 0.25s
off 180° |ghdmin J0S, © DS’ D08 emf
Dexns (Hp=3.0x10"3T)

(1) 14x1072V
(2) 26x1072V
(3) 38x107°V

66x107%V

)
Forde Hrssn 5§ 0 s @) TS p.
D ©8% Hssn p oot TS T FolBS p'. ©

Sy FosS0BRe ok B eass £ 258 :
p

m 1-E
B

B,

2) 1+ B
N

P

3 1+ B

B
e
@ 1
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166. Due to Doppler effect, the shift in wavelength

observed is 0.1 A, for a star producing a wavelength
6000 A. The velocity of recession of the star will
be:

M
@
@
@

25kms?
10 km s—1
5kms—1

20kms—1

167. A person has near poimntat 60 cm, The focal length

168.

169,

of spectacles lenses to read at 22 cm having glasses
separated 2 cm from the eyes, is :

(1) 10em
2) 20cm
@ 30 cm
4 40cm
A wall consists of alternating blocks of length ‘d’
and coefficient of thermal conductivity K; and K,
respectively as shown in figure. The cross sectional
area of the blocks are the same. The equivalent
coefficient of thermal conductivity of the wall
between leftand right is -
——d—
2K; K
(y 172
K; +K,
@ Ktk
3
3K; K
@ =122
K;+K,
@
b.
= > - o (—> ~—>)
The angle between A—B and A x B is \A=B} .
@ o
@ 120°
3 45°
4 60°

41

166.

167.

168,

169.

@

A

6000 A 80Pt el B o8 S, s
$08ED Soi o SsonEIne 0.1 A D3
BorEREe. eawd & $go o) IPBES Irdw :

1) 2585/
2 108HH
Gy 58/

4 208%./5%

2.8 S8 &) V0 HotHy 60 cm. L0 Hod
2 om SrSSnst a8 é!@ &% %09 22 cm Srsodt
o Dot SrSrers, é@’@&é‘sdo S gdne
TeETOSEH0 Dendd

1)
2
(3}
(4)

oSS Ho o8 st K 9008 K, B
Foessiin Ko By dsrosborr Hesnet ey
DHNTD. e ape 53@3365&&13@ R8sy, A,
Hlho S e [ ooy rermsoss EREEY
e¥Sn Jend -

10 cm
20 cm
30 cm
40 cm

-—d——

Ky +K,
3
3K, K,
K; +K,
K; +K,
2

(1)

®)
4
X—-E bvblaTeven) Xxg © gl osm (K;ﬁg) :
1) 90°

@ 1200

B) 45°
@ 60
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A

170. Anelectron moves straight inside a charged parallel

171.

172.

plate capacitor of uniform charge density o. The
space between the plates is filled with uniform
magnetic field of intensity B, as shownin the figure.
Neglecting effect of gravity, the time of straightline
motion of the electron in the capacitoris :

e
Xy X XX
s X X X
X X X XB
% X W ¥
VR T __Jl
o
(1) EUIB
@ &b
a
C) B

E[].IB

U

A metal rod of 1 m length, is dropped exact vertically
on to a hard metal floor. With an oscilloscope, it is
determined that the impact produces a longitudinal
wave of 1.2 kHz frequency. The speed of sound in
the metal rod is:

2) 1800 m/s
@ 1200m/s
@) 600 m/s

2400 m/s

If the longest wavelength in the ultraviolet region of
hydrogen spectrum is A, then the shortest
wavelength in its infrared region is :

20

M Fho
@ T
@ T
@) 476)‘0

42
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171.

172.

English+Telugu

5588 e3E ot o e WREEFES Sirods Yo
P2e8E" ol JolpS BEE mgoés Ehendod.
Hode Hogy B SBE Mo 2888 edbirpd ELR
Heswst Srhd dfore Dol Hoh. rHEEYes
$0850% &BL00DE © B8 doigs
$EESrges’ Hrdod sodn Do :

+++++++

X v X X X

*x— X X X

X X X X B

X X X X

e
a

(4)

1 8. e SORS 2.8 6% 840 abgrg womore
o 585 &g Svsnd i, Bud 8G9
BP0, @ oPirdin 1.2 56° 35S TRHgED
Ko ©oBt Storrei SorBhdi SOTTs. eowid
o Sesy 88 Sor TS GO ) 98

(1) 2400 ./

) 1800 L./

@) 1200 ./

@) 600 ./

TEeS SEHeins®d ©ade Sterd (Prosins®
FUFS SEoRZEgdNn A, wond o Hoodes
[Brossnd® GBS SorBgEw :

20

m  Fh
@
o
@ 3
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173.

174.

175.

A parallel beam of light of wavelength  is incident
normally on a single slit of width d. Diffraction
bands are obtained on a screen placed at a distance
D from the slit. The second dark band from the
central bright band will be at a distance given by :

(), AdD
AD

@ 3
2xd

@ 5

@ %

The volume of 1 mole of an ideal gas with the
adiabatic exponent v is changed according to the

relation V =—¥- where b=constant. The amount of

heat absorbed by the gas in the process if the
temperature is increased by AT will be :

(1)

@

3
1=%
o (e

A girl jumps down from a moving bus, along the
direction of motion of the bus, tilting slightly
forward. She falls on (a) a sheet of ice (b) a patch of
plue.

Inboth cases (a) and (b) she falls forward.

(2} Inboth cases (a) and (b) she falls backward.

(3)  In case (a) she falls forward and in case
(b) she falls backward.

4)  In case (a) she falls backward and in case

(b) she falls forward.

43

173.

174,

175.

A

A BBoHZn Mo a8 Sdrost 2ol 88 Hoedw,
d 3ken) Ko o HOEH vomorr S350 Boboa.
@ H8% 00 D Srdins Ko B DHGS HEsen
QHERD. gy SpBIad HBE Hood Bokd HES

58 doths eS|
() AdD

AD

2 55

(3)
@

Y RS SrErossn SOAS 1 36 Ho S68resm

b
o o sl s V=?(b=%mo§m)
Ro0G%ED |H880 Srds5e. oD afiE AT 20D
@ o Fimso TS agss :

R oAt

v—1

(a)RAT
v—1

@

@)

RAT
® 34

1-v
@ (m] RAT

Sthenihs) ol 2B Lol af ®IT0N 2R SthHenidl)
BES® 0SB Enoh O Kr8ob. 6D (a) el
Do PP BES (b) 28 BIHG ©HHD H&S

D) (a) LB (b) Both Sotonwd® 6 dwothd

BEHod.

@) (2) B0 (b) Both Sorvyes® e g

FTanT: SToTAN

(a) SoBGEwe® Lwo®d (b) SotigSnss
T e HHoHod.

(a) SosgIns® J0sd (b) Sosysns®
S0otHH @ BHE0.
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176.

177.

178.

The rotational kinetic energy of a solid sphere of
mass 3 kg and radius 0.2 mrolling down an inclined
plane of height 7 m is :

@ 0]
@ 36]
G 70]
@ 42]

A common emitter amplifier circuit is shown in the
figure below. For the transistor used in the circuit
the current amplification factor, g,.=100. Other
parameters are mentioned in the figure.

g

We find that:

(1) Vgg=+185V, V= +285V and amplifier

is not working.

Vpp= +20.7V, Vp~= +3.75V and amplifier
is not working.

Veg= +21.5V, Vp-= —2.75V and amplifier
is working,.

4)  Vpp= +18.2V,Vp~= —3.45Vand amplifier

is working,.

If the mass of neutron is 1.7 x 10~ 27 kg, then the

de-Broglie wavelength of neutron of energy 3 eV
is: (h=6.6x10~"HJs)

1M 1.6x10"10m

@ 165%10-1 m
14x10-10m

@) 14x10-11m

44
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3kge (EX50e8, 0.2 m a@#gé:o e 2.8 $035 Kigsn
7m & &%) Tw aygp ool BolH (gedn
TOLWDOFHB. wond ol (e HNa E8 :

M 60}
@ 36)
@ 707
@ 42]

2.8 5508 Qabab woRpabd  (common emitter
amplifier) HochSns (Bod SeSws® $rD0.
Sodhins® aS@PACNE  (Erodpl Gy s
(e SES EESD By, =100 9o HeEE® L3S
prige HoeSneben

Aoat Ben‘{ngﬁéé.a :

(1) Vgg=+18.5 V, Vgo=+2.85 V Ho8c8»

202 PANE B Babo B,

@) Vpp=+207V, Vpc=+375V SoBdf»

o PAHE I Beho Bt

(B) Vgg=+215V, Vg=-275V HodA»

@0 NSH B 3@0&

m

(4) Vpp=+182V, Vpgo=-345 V o8BS

0D B Tiod.

SoogeeS (55508 Dewd 1.7 x10” 7 kg ewond 3eV

SoglerS 48 Bwox) &-F°F0 SYorBLEn Dend
(h=6.6x10"34]s)

() 16x10"0m
) 165x10"11m
(3 14x10710pm
4 14x1071m

1
!
1
5
*
1
i
!
i
|
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79.

30

The angular momentum of a rigid body of mass m
about an axis is n times the linear momentum (P) of
the body. Total kinetic energy of the rigid body is :

P? [1+n2:|

Zm

10

A student performs an experiment of measuring the
thickness of a slab with a vernier calliper whose
50 divisions of the vernier scale are equal to
49 divisions of the main scale. He noted that zero of
the vernier scale is between 7.00 cm and 7.05 cm
mark of the main scale and 23" division of the
vernier scale exactly coincides with the main scale.
The measured value of the thickness of the given
slab using the calliper will be :

@) 7.073cm

4 773cm

-000-

45

179.

180.

A

2.8 efsin Jot m @Saépscn% e a8 céatﬁ V) &wéa
Sdab (5HBs0 0 ab 55g e (P) 28
nBéy ®oud @ CSE)E,‘, Si%DH g éo@vg Hi%es H8 .

P2|:1+n2:|
2Zm

1)

n? p?

@

2m
(3 n?P2x2m

n? p2

@

28 DB a8 Pt Enk) Doted) I)aHE sOHEE?
oD (BArHED IHemd. YD e a
50 grreen, bond S &8 49 grredH BErSO.
IYHS S ST ©Ib  7.00 vo.L. Bk
7.05 ?oo.ﬁb._sﬁ)cﬁézé &0 SHdasw Sia\evls] 'fo&en
¥ 2385 Defesd, DowS WS ENBore wod
S5)tn edhs HBomed, wand DTl DI e
Hol oy Dend :

(1) 7.23 2o.5.
(2) 7.023 o.5n.
3y 707320

@  7.73%0.5.

-000-

o e o =
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